= PEDAL 7=~ - 4
~~ BOITOM'BRACKET-
_—HEADSET

N\l'LUO:)'UGJ.SQ}-pd:I.'MMN\




Bulgaria

FPD INDUSTRY CORP. FASTEN PRODUCTS MFG. LTD
ZHANGPU WEIBO BICYCLE CO., LTD.

FPD Industry Corp. / Fasten Products Mfg., Ltd. Abbreviate

[Fasten Pedall Fasten founded in 1994 in Taiwan, and
second factory-Fasten Products Mfg, Ltd. established in
2000 in Shenzhen. We established our third new factory,
ZHANGPU WEIBO BICYCLE CO., LTD. at Zhangpu County
nearby Xiamen City in MARCH 2016 which produce
Pedals/Headsets/Stems/Bottom Bracket.

Taiwan factory is around 2500 square meters and has 45
employees, manufacturing 80,000 prs Pedals and 30,000
sets Headsets per month. Zhangpu Factory is around

32,000 square meters and has 250 employees, manufactur-
ing 8,000,000 prs Pedals, 300,000 sets Headsets, 200,000
pcs Stems and 3,000,000 sets Bottom Bracket per year.]

JFPD have plastic injection machine / Heat treatment

machine / Pedal axle, and BB axle forged machine / CNC
machine / Automatic assembling machine / Laser engraving
machine / All kind of drilling machine of the Pedals, Head-
sets, Stems and Bottom Bracket.

FPD will do our best to fulfill the customers request always
provide the advanced technology and also keep the high
quality. We are with professional attitude to keep the

improvement everyday.

CONSISTENT QUALITY
ON TIME DELIVERY
ONGOING INNOVATION
EMPLOYEE RECOGNITION
SATISFYING SERVICE

Shanghai

Taichung

Xiamen

Guangzhou

Shenzhen

FPD INDUSTRY CORP. & 1% 0% 5 R &)

£ v TEBREAKISIH1365K

No. 136, Ln. 189, Wuguang Rd., Wurih Dist., Taichung City 41470, Taiwan (R.O.C))
Tel | +886-4-2338-9808 Fax | +886-4-2338-2807 Mail | fpd@fpd-fasten.com.tw

ZHANGPU WEIBO BICYCLE CO., LTD. ZEHh#E#M AT 2 H RN 3
PEBEEFNTEAGEAMAEMATER

Jiuzhen Industrial Zone, Jiuzhen Town, Zhangpu County, Zhangzhou city, Fujian, China
Tel | +86-596-3921360 Fax | +86-596-3921365 Mail | fpdinf@fpdfasten.com

FPD

FPD(EUROPE) EOOD
SOFIA, BULGARIA

7
Taiwan

5



CLIPLESS ' CLIPLESS
PEDAL = PEDAL FPD

ROAD /

/ NWL-273B

SIZE 108x66x33mm
WEIGHT  Alloy cage 443g/PR
Steel cage 483g/PR

/ NWL-280B

SIZE 108x66x28mm
WEIGHT  Alloy cage 447g/PR
Steel cage 487g/PR

. BODY Burnished silver alloy body BODY Burnished silver alloy body
f? CAGE Steel / Alloy CAGE Steel / Alloy
AL / FPD-C41 / FPD-C36 AXLE C-Mo AXLE C-Mo
\ BEARING  Sealed bearing BEARING  Sealed bearing
SIZE 82.3x87x28mm SIZE 80x93x33mm CLEAT Shimano compatible CLEAT Shimano compatible
\éVOE'I)(iHT iﬁ6g/PR S hod \BABEI!SHT gOObg/P?A” single side clip binding single side clip binding
oy painted body arbon/Alloy
BEARING | Scaledbeanr BEARING | Sealed beormg !
ealed bearing ealed bearing
CLEAT Look KEO compatible CLEAT Look KEO compatible WEIGHT Alloy cage 442g/PR WEIGHT = Alloy cage 433g/PR
Steel cage 482g/PR Steel cage 473g/PR
BEARING ' Loose balls BEARING ' Loose balls
SIZE 117.4x66.2x31.8mm SIZE 113x72x33mm
WEIGHT 480g/PR WEIGHT 440g/PR
BODY Burnished silver alloy body BODY Burnished silver alloy body
CAGE Steel with TPR rubber
AXLE Boron / Cr-Mo AXLE Cr-Mo
BEARING = Loose balls BEARING = Sealed bearing
/ FPD_C40 / FPD_C34K CLEAT Shimano compatible CLEAT Shimano compatible
single side clip binding single side clip binding
SIZE 86x90x31mm SIZE 80x93x33mm
WEIGHT 334g/PR WEIGHT 283g/PR
BODY Alloy painted body BODY Alloy painted body
AXLE Cr-Mo w/6mm Allen-key AXLE Cr-Mo w/6mm Allen-key WEIGHT 420g/PR
BEARING  Loose balls BEARING = Sealed bearing BEARING = Loose balls
CLEAT Look KEO compatible CLEAT Look KEO compatible
SIZE 79x55x34mm
WEIGHT 320g/PR
BODY Alloy painted body
AXLE Cr-Mo
BEARING  Sealed bearing / )
CLEAT Shimano compatible FPD C21 BA
END CAP ' Alloy £ sz 82x65x32mm
| FPD-C68 | FPD-C13BA N | dreern
BODY Alloy painted body
SIZE 95.2x94.8x29mm SIZE 85x65x25mm AXLE Cr-Mo
WEIGHT  355g/PR WEIGHT  288g/PR EEAPNG gﬁ,a‘ed bearing "
BODY One side clip pedal / BODY Alloy painted body ENli) ZAP AH‘ma”O compatible
Alloy body with TPR rubber AXLE Cr-Mo oy
AXLE Cr-Mo BEARING = Sealed bearing
BEARING = Sealed bearing CLEAT Shimano compatible / FPD'C63
CLEAT Shimano compatible SIZE 86x90x31mm
WEIGHT 372g/PR
WEIGHT | 337g/PR BEARING  Loose balls
BODY Alloy painted body C lasti
WEIGHT  290g/PR AXLE Cr-Mo END CAP | Plastic
END CAP ' Plastic BEARING = Sealed bearing
CLEAT Shimano compatible

CLEAT KITS /

@

./-' 7
/ C- NEHE 7 L .
[can 12 X
IZE 90x80x7mm L1 !
WEIGHT 62g/PR I it (D
MATERIAL Nylon 1
COMPATIBLE Look KEO
Sh!mano SPD
shimaro st / CT-001 / C1-003/004/005  / CT-007 / CT-002 / CT-006
COLOR RED COLOR | CT-003Red9° ~ COLOR | Black nylon with grey TPR~ CLEAT | Shimano compatible CLEAT | Shimano compatible
CLEAT | Look style drilling CT-004 Grey 5° CLEAT [UbEeKFE%’ Single direction release. Multi-direction release
i g o 00
compatiole CLEAT EgoiOKSEgaCk 0 FPD-C34T / FPD-C34 /

FPD-C34T/FPD-C34/
01 02



03

/ FPD-C60

SIZE 86x89x23.9mm

WEIGHT 280g/PR

BODY One piece nylon+fiber body
AXLE Boron / Cr-Mo

BEARING  Loose balls

REFLECTOR Included

TOE CLIP Included

TOE STRAP ' Included

/ NW-288

SIZE 98x118x92mm
WEIGHT 375g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

TOE CLIP Included

TOE STRAP Included

/ NWL-424B+541+T12

SIZE 93x65x22mm
WEIGHT 397g/PR

BODY Polished silver alloy body
CAGE Steel / Alloy

AXLE Cr-Mo

BEARING Sealed bearing
REFLECTOR Included

TOE CLIP T12 Included

TOE STRAP S41 Included

/ NWL-424B

SIZE 93x65x22mm
WEIGHT 260g/PR

BODY Polished silver alloy body
CAGE Steel / Alloy

AXLE Cr-Mo

BEARING Sealed bearing
REFLECTOR Included

TOE CLIP Available

TOE STRAP Available

/ FPD-86L

SIZE 102.2x63%x23.5mm
WEIGHT 332g/PR

BODY One piece alloy body
AXLE Boron / Cr-Mo
BEARING Loose balls

/ NW-363

SIZE 85x127x25mm
WEIGHT 396g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

TOE CLIP Included

TOE STRAP Included

/ NWL-363

SIZE 93.2x88.4x24mm
WEIGHT 482g/PR

BODY Burnished silver alloy body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

TOE CLIP Included

TOE STRAP Included

/ NWL-422L+541+T12

SIZE 90x63x22mm
WEIGHT 472g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

TOE CLIP T12 Included

TOE STRAP S41 Included

/ NWL-422L

SIZE 90x63x22mm
WEIGHT 348g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

TOE CLIP Available

STRAP Available

/ FPD-87B

SIZE 101x64x23mm
WEIGHT 276g/PR

BODY One piece alloy body
AXLE Cr-Mo

BEARING = Sealed bearing

WEIGHT 268g/PR
BEARING = Loose balls

/ NWL-498B

SIZE 105x62.5x18mm
WEIGHT Alloy cage 265g/PR
Steel cage 316g/PR

BODY Polished silver alloy body
CAGE Steel / Alloy
AXLE Cr-Mo

BEARING = Sealed bearing

/ NWL-98C

SIZE 114x68x19mm

WEIGHT 276g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Cr-Mo

BEARING  Sealed bearing
TOECLIP | Available
TOE STRAP | Available

/ FPD-85FB

SIZE 98x62.5x18mm
WEIGHT 240g/PR

BODY Polished silver alloy body
CAGE Alloy

AXLE Cr-Mo

BEARING  Sealed bearing
TOE CLIP Available
TOE STRAP ' Available

WEIGHT 239g/PR

CAGE W/O Hook
/ FPD-89FL
SIZE 98x61x24mm

WEIGHT  312g/PR

BODY Polished silver alloy body
CAGE Alloy

AXLE Boron / Cr-Mo
BEARING ' Loose balls

/ NWL-406B

SIZE 93x62.5x25mm
WEIGHT  240g/PR

BODY Polished silver alloy body
CAGE Alloy

AXLE Cr-Mo

BEARING ' Sealed bearing

FPD

/ NWL-462B

SIZE 107x63x19mm
WEIGHT Alloy cage 265g/PR
Steel cage 316g/PR

BODY Polished silver alloy body
CAGE Alloy
AXLE Cr-Mo

BEARING = Sealed bearing

/ NWL-98E

SIZE 114x68x19mm

WEIGHT  270g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING = Sealed bearing

/ NWL-435B

SIZE 102x62.5x19mm
WEIGHT 307g/PR

BODY Polished silver alloy body
CAGE Alloy

AXLE Cr-Mo

BEARING = Sealed bearing

/ NWL-497
SIZE 102x62.5x21mm
WEIGHT Alloy cage 295g/PR

Steel cage 350g/PR
BODY Burnished silver alloy body
CAGE Steel / Alloy
AXLE Boron / Cr-Mo

BEARING Loose balls

WEIGHT Alloy cage 303g/PR
Steel cage 358g/PR
BEARING  Sealed bearing

/ NWL-408

SIZE 86x62x25mm

WEIGHT  336g/PR

BODY Burnished silver alloy body
CAGE Alloy

AXLE Boron / Cr-Mo

BEARING ' Loose balls

04



05

/ NWL-402BX

ROAD /MTB

SIZE
WEIGHT
BODY
CAGE
AXLE
BEARING

/ NWL-994

102.8x77.1x27mm
320g/PR

CNC alloy body
Steel

Cr-Mo

Sealed bearing.

SIZE
WEIGHT

111x93x24mm
450g/PR

BODY Burnished silver alloy
body

CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR ' Included

/ NW-93K

SIZE 110x62.5x25mm

WEIGHT 415g/PR

BODY One piece PP body

CAGE Steel

AXLE Boron / Cr-Mo

BEARING Loose balls

TOE CLIP Available

TOE STRAP ' Available

/ NWL-99K

SIZE 113x82x21mm

WEIGHT  320g/PR

BODY Burnished silver alloy body

CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING ' Loose balls

/ NWL-94K

SIZE 101x63x24mm

WEIGHT  353.5g/PR

BODY Burnished silver alloy body

CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING ' Loose balls

/ NWL-402BM

SIZE 96x61x21.6mm
WEIGHT 248g/PR

BODY CNC alloy body
AXLE Cr-Mo
BEARING Sealed bearing

SIZE 69.6x61x21.6mm
WEIGHT 212g/PR

/ NWL-452L

SIZE 117x82x21mm

WEIGHT  300g/PR

BODY Burnished silver alloy body
CAGE Steel /Alloy

AXLE Boron / Cr-Mo

BEARING ' Loose balls

/ NW-99K

SIZE 110x82x23mm
WEIGHT  288g/PR

BODY One piece PP body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo
BEARING ' Loose balls

/ NWL-135B

SIZE 103x62.5x24mm
WEIGHT 250g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Cr-Mo

BEARING  Sealed Bearing
REFLECTOR  Included

/ NW-94K

SIZE 101x62x25mm
WEIGHT  288g/PR

BODY One piece PP body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo
BEARING ' Loose balls

/ NWL-517

SIZE 96.4x62x24mm
WEIGHT Alloy cage 300g/PR

Steel cage 370g/PR
BODY Burnished silver alloy body
CAGE Steel / Alloy
AXLE Boron / Cr-Mo
BEARING = Loose balls

/ NWL-499

SIZE 109x63x20mm
WEIGHT Alloy cage 318g/PR

Steel cage 358g/PR
BODY Burnished silver alloy body
CAGE Steel / Alloy
AXLE Boron / Cr-Mo
BEARING = Loose balls

/ NWL-91K

SIZE 102x62x24mm

WEIGHT 422g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING Loose balls
TOE CLIP Available
TOE STRAP ' Available

/ NWL-90R

SIZE 105x63x25mm

WEIGHT 390g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING Loose balls
TOE CLIP Available
TOE STRAP ' Available

/ NWL-96K

SIZE 105x62x24mm

WEIGHT 454g/PR

BODY Burnished silver alloy body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING Loose balls

*R

FPD

/ NW-517

SIZE 96.4x62x24mm
WEIGHT Alloy cage 264g/PR
Steel cage 334g/PR

BODY One piece PP body
CAGE Steel / Alloy
AXLE Boron / Cr-Mo

BEARING Loose balls

/ NW-499

SIZE 109x63x22.5mm
WEIGHT Alloy cage 320g/PR
Steel cage 385g/PR

BODY One piece PP body
CAGE Steel / Alloy
AXLE Boron / Cr-Mo

BEARING Loose balls

/ NW-91K

SIZE 101x69x26mm
WEIGHT  355g/PR

BODY One piece PP body
CAGE Steel ED / Alloy anodized
AXLE Boron / Cr-Mo

BEARING Loose balls
TOE CLIP Available
TOE STRAP ' Available

/ NW-90R

SIZE 106x62x25mm
WEIGHT 410g/PR

BODY One piece PP body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING Loose balls
TOE CLIP Available
TOE STRAP ' Available

CAGE W/O Hook

/ NW-96K

SIZE 105x62x25mm
WEIGHT 400g/PR

BODY One piece PP body
CAGE Steel / Alloy

AXLE Boron / Cr-Mo

BEARING Loose balls

06



07

/ NWL-563B

SIZE 102x98x16mm

WEIGHT 331g/PR

BODY CNC alloy body with
screw pin

AXLE Cr-Mo

BEARING | Sealed bearing

/ NWL-5798B

SIZE 80x85x16mm

WEIGHT 275g/PR

BODY CNC alloy body with
screw pin

AXLE Cr-Mo

BEARING ' Sealed bearing

/ NWL-506B

SIZE 101x98x16mm

WEIGHT 310g/PR

BODY CNC alloy body with
screw pin

AXLE Cr-Mo

BEARING = Sealed bearing

/ NWL-492

SIZE 105x90x24mm
WEIGHT 450g/PR

BODY One piece alloy body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

/ NWL-704B  NFHE

SIZE 110x 110 x 16mm

WEIGHT 340g/pr

BODY CNC alloy body with
replacement pins

AXLE Cr-Mo

BEARING = Sealed bearing

/ NW-613B / NWL-7018B

SIZE 117 x110x 25.5mm SIZE 110x 100 x 18mm

WEIGHT 310g/PR WEIGHT 312g/pr

BODY Nylon body with BODY CNC alloy body with
Replacement Pins replacement pins

AXLE Cr-Mo AXLE Cr-Mo

BEARING = Sealed bearing BEARING

Sealed bearing

/ NWL-703B

/ NWL-523B

SIZE 100x94x16mm SIZE

WEIGHT 318g/PR WEIGHT

BODY CNC alloy body with BODY
screw pin

AXLE Cr-Mo AXLE

BEARING = Sealed bearing BEARING

100X 110 X 18mm
382g/pr

CNC alloy body with
replacement pins
Cr-Mo

Sealed bearing

/ NWL-123B-RP

/ NWL-110B

SIZE 108.5x110x18mm SIZE

WEIGHT 465g/PR WEIGHT

BODY CNC alloy body with BODY
screw pin

AXLE Cr-Mo AXLE

BEARING = Sealed bearing BEARING

100x100x18mm
440g/PR

Forged alloy body with
screw pin

Cr-Mo

Sealed bearing

Painted color / Anodized color available

/ NWL-713B  NFHE

/ NWL-122L

SIZE 100x100x21.5mm SIZE

WEIGHT 461g/PR WEIGHT

BODY One piece alloy body BODY
with molded pin

AXLE Steel / Boron / Cr-Mo AXLE

BEARING Loose balls BEARING

/ NW-638 NEHE

110x110x 18 mm
408g /PR

CNC alloy body with
replacement pins
Cr-Mo

Sealed bearing

/ NWL-715B  NFHE

SIZE 100x98.6x21.2 mm SIZE

WEIGHT 300g /PR WEIGHT

BODY Carbon Injection body BODY
Boron / Cr-Mo

AXLE Loose balls AXLE

BEARING ' Included BEARING

110x110x 18 mm
390g /PR

CNC alloy body with
replacement pins
Cr-Mo

Sealed bearing

FPD

/ NWL-705B

SIZE 105 x 100 x 18mm

WEIGHT  324g/pr

BODY CNC alloy body with
replacement pins

AXLE Cr-Mo

BEARING = Sealed bearing

/ NWL-702B

SIZE 105 X 100 X 18mm

WEIGHT  348g/pr

BODY CNC alloy body with
replacement pins

AXLE Cr-Mo

BEARING = Sealed bearing

/ NWL-131B

SIZE 100x100x18mm

WEIGHT 390g/PR

BODY CNC alloy body with
screw pin

AXLE Cr-Mo

BEARING = Sealed bearing

[ NWL-714B  MeHe

SIZE 110x110x 17 mm

WEIGHT 455.4g /PR

BODY CNC alloy body with
replacement pins

AXLE Cr-Mo

BEARING ' Sealed bearing

/ NWL-7008B

SIZE 105 x 100 x 18mm

WEIGHT 362g/PR

BODY CNC alloy body with
replacement pins

AXLE Cr-Mo

BEARING = Sealed bearing

08



MTB / BMX FPD

oA
%9'}? ’
w -
/ NWL-221 / NWL-221-RP /| NWL-305 Ja A [ NWL316
E *
SIZE 112x109x24mm SIZE 112x109x24mm SIZE 108x105x26mm \ F - %* SIZE 122x108x26mm
WEIGHT 397g/PR WEIGHT 397g/PR WEIGHT  461g/PR - gr e WEIGHT 514g/PR
BODY One piece alloy body BODY One piece alloy body BODY One piece alloy body \ w - "\ BoODY One piece alloy body
with molded pin with replacement pin with molded pin \ L5 d o 0 with molded pin
AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo

BEARING Loose balls
REFLECTOR ' Included

BEARING Loose balls
REFLECTOR ' Included

BEARING = Loose balls BEARING Loose balls

BEARING Sealed bearing BEARING Sealed bearing

/ NWL-219 / NWL-222 / NWL-302 / NW-487

SIZE 108x100x24mm SIZE 111.2x100x29mm SIZE 107x112x24mm SIZE 113.5x105x26.4mm

WEIGHT 404g/PR WEIGHT 454g/PR WEIGHT 534g/PR WEIGHT 314g/PR

BODY One piece alloy body BODY One piece alloy body BODY One piece alloy body BODY One piece PP body
with molded pin with molded pin with molded pin AXLE Boron / Cr-Mo

AXLE Boron / Cr-Mo AXLE Boron / Cr-MO AXLE Boron / Cr-Mo BEARING = Loose balls

BEARING Loose balls BEARING Loose balls BEARING Loose balls

REFLECTOR Included

BEARING Sealed bearing

BODY One piece alloy body
with screw pin

/_NW-287NF [ NWL-992S

/ NWL-303 / NWL-468 SIZE 112x108x24mm SIZE 105x93x24mm
WEIGHT 408g/PR WEIGHT 442g/PR

SIZE 110x102x21mm SIZE 97x95x24mm BODY One piece Nylon+Fiber BODY One piece alloy body

WEIGHT 454g/PR WEIGHT 488g/PR body with molded pin

BODY One piece alloy body BODY One piece alloy body AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo

with molded pin with molded pin BEARING Loose balls BEARING Loose balls
AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo REFLECTOR Included

BEARING ' Loose balls BEARING Loose balls

[ NW-421 / NWL-478
/ NWL'303|—'RP / NWI—'393I- SIZE 110x103x26mm SIZE 92x80x24mm

WEIGHT 386g/PR WEIGHT 424g/PR
3\',25 SHT igg;}gélemm \SAIIZEEIGHT ;_)(Z)Zx}SSmem BODY One piece PP body BODY One piece alloy body

. &/ AXLE Boron / Cr-Mo with molded pin
BODY One piece alloy body BODY One piece alloy body BEARING  Loose balls AXLE Boron / Cr-Mo
with screw pin with molded pin BEARING Loose balls

AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo REFLECTOR Included
BEARING  Loose balls BEARING  Loose balls neude
REFLECTOR ' Included ) )

BODY One piece Nylon+Fiber

body

WEIGHT  416g/PR

L]
- / NWL-975 / NWL-478-RP
NW-303 . NWL-393B-RP
b SIZE 110x103x26mm SIZE 92x80x24mm
SIZE 111x102x23.5mm s a/ SIZE 103x105x24mm WEIGHT 460g/PR WEIGHT 424g/PR
WEIGHT 305g/PR L] / v WEIGHT 492g/PR BODY One piece alloy body BODY One piece alloy body
BODY One piece PP body g < - BODY One piece alloy body with molded pin with screw pin
AXLE Boron / Cr-Mo o ‘.ﬁ:' ] with screw pin AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo
BEARING Loose balls \"',_-—L -// & AXLE Boron / Cr-Mo BEARING Loose balls BEARING Loose balls
REFLECTOR ' Included . fﬁ; @ »  BEARING | Sealed bearing REFLECTOR ' |ncluded
d
o

BODY One piece nylon+fiber . a

body
WEIGHT 336g/PR

09 10



TREKING+/ CITY / COMFORT TREKING / CITY / COMFORT ‘ ‘ D

/ NWL-991 v 3 / NWL-360 / NWL-358
| SIZE 105x70x24mm SIZE 105x70.6x25.5mm 3 SIZE 109x70x24mm SIZE 110.5x93x28mm
WEIGHT 452g/PR WEIGHT 340g/PR WEIGHT 453g/PR WEIGHT 440g/PR
BODY Burnished silver alloy BODY Burnished silver alloy BODY Burnished silver alloy BODY Burnished silver alloy
body with TPR rubber body with TPR rubber body with TPR rubber body with TPR rubber
AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo
BEARING Loose balls BEARING Loose balls BEARING Loose balls BEARING Loose balls

REFLECTOR Included REFLECTOR Included REFLECTOR Included REFLECTOR Included

/ NWL-971 / NWL-467S / NW-341
SIZE 109x80x26mm SIZE 103.5x92.3x31mm SIZE 113x77x26mm
WEIGHT 488g/PR WEIGHT 430g/PR WEIGHT 350g/PR
BODY Polished silver alloy BODY Burnished alloy body BODY One piece PP body
body with TPR rubber with TPR rubber with TPR rubber

AXLE Boron / Cr-Mo / NWL-369 AXLE Boron / Cr-MO AXLE Boron / Cr-Mo
BEARING Loose balls BEARING Loose balls BEARING Loose balls
REFLECTOR Included SIZE 112x72x25mm REFLECTOR Included REFLECTOR Included

WEIGHT 400g/PR

BODY Burnished silver alloy

body with TPR rubber
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NWL-361AB / NW-467 / NW-468

SIZE 96x76x25mm SIZE 110x97x23mm SIZE 111x97.5x32.6mm

WEIGHT 408g/PR WEIGHT 385g/PR WEIGHT 392g/PR

BODY Burnished silver alloy BODY One piece PP body BODY One piece PP body
body with TPR rubber with TPR rubber AXLE Boron / Cr-Mo

AXLE Cr-Mo AXLE Boron / Cr-Mo BEARING Loose balls

BEARING Sealed bearing BEARING Loose balls REFLECTOR Included

REFLECTOR Included REFLECTOR Included

AXLE Steel / Boron / Cr-Mo / NWL-359
BEARING Loose balls SIZE 107x60x24mm
WEIGHT 475g/PR
BODY Burnished silver alloy
/ body with TPR rubber
- AXLE Boron / Cr-Mo / - / -
NWL-266 MEsoron) - NWL-496 NW-496
SIZE 113x71x25mm REFLECTOR ' Included SIZE 108x75x23mm SIZE 108.4x75x23.5mm
' WEIGHT 571g/PR WEIGHT 387g/PR WEIGHT 310g/PR
BODY Burnished silver alloy BODY Burnished silver alloy BODY One piece PP body
body with TPR rubber body with TPR rubber with TPR rubber
AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo
BEARING Loose balls BEARING Loose balls BEARING Loose balls

REFLECTOR Included REFLECTOR Included REFLECTOR Included

/ NWL97A / NWL-364 / NW-96D / NW-247

SIZE 104x70x26mm SIZE 105x76x27mm SIZE 110x74x26mm SIZE 106x72x25mm

WEIGHT 440g/PR WEIGHT 470g/PR WEIGHT 393g/PR WEIGHT 338g/PR

BODY Burnished silver alloy BODY Burnished silver alloy BODY One piece PP body BODY One piece PP body
body with TPR rubber body with TPR rubber with TPR rubber with TPR rubber

AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo

BEARING Loose balls BEARING Loose balls BEARING Loose balls BEARING Loose balls

REFLECTOR Included REFLECTOR Included REFLECTOR Included REFLECTOR Included

11 12



13

TREKING+/ CITY / COMFORT

/ NW-609 NEWE

SIZE 112.6x84x27.3mm

WEIGHT 322g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-353

SIZE 100x80x25mm

WEIGHT 335g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-350

SIZE 110x97x27mm

WEIGHT 395g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-357

SIZE 107.5x82x25.5mm

WEIGHT 335g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-420

SIZE 107x102x25mm

WEIGHT 338g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

/ NWL-609  MFHE

SIZE 91.2x84.6x21.7mm

WEIGHT 427g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-352

SIZE 109x82x26mm

WEIGHT 375g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-88

SIZE 108x75x25mm

WEIGHT 366g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-340

SIZE 110x76x26mm

WEIGHT 330g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-410

SIZE 105x70x24mm

WEIGHT 285g/PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

TREKING / CITY / COMFORT

/ NWL-108

SIZE 106x63x26mm

WEIGHT 385g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NWL-399N

SIZE 105x73.7x27mm

WEIGHT 412g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

BEARING Sealed bearing

/ NWL-936

SIZE 105x72x24mm

WEIGHT 398g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

/ NWL-962

SIZE 111x93x24mm

WEIGHT 446g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NWL-86H

SIZE 105x66x24mm

WEIGHT 397g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

FPD

/ NWL-484

SIZE 107x70x29mm

WEIGHT 348g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

TOE CLIP Available

TOE STRAP Available

/ NWL-469

SIZE 97x81x23mm

WEIGHT 388g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NWL-106

SIZE 105x82x24mm

WEIGHT 423g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NWL-979

SIZE 105x78x24mm

WEIGHT 480g/PR

BODY Burnished silver alloy
body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NWL-001D  MFHE

SIZE 92x81.3x14mm

WEIGHT 328g/PR

BODY One piece Alloy body
with molded pin

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

14



15

MTB / A¥B / CITY

/ NW-430

SIZE 107x102x25mm

WEIGHT 355g/PR

BODY One piece PP body

AXLE Boron / Cr-Mo

BEARING Loose balls

BODY One piece nylon
+fiber body

WEIGHT 385g/PR

/ NW-463

SIZE 107x90x24mm

WEIGHT 335g/PR

BODY One piece PP body

AXLE Boron / Cr-Mo

BEARING Loose balls

BODY One piece nylon
+fiber body

WEIGHT 365g/PR

/ NW-465

SIZE 105x90x23mm

WEIGHT 295g/PR

BODY One piece PP body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-310

SIZE 111x100x33mm
WEIGHT 378g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-302

SIZE 112.5x100x28.5mm
WEIGHT 335g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo

BEARING Loose balls
REFLECTOR ' Included

/ NW-492

SIZE 105x90x24mm
WEIGHT 302g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-366

SIZE 104x97x26mm

WEIGHT 350g/PR

BODY One piece PP body

AXLE Boron / Cr-Mo

BEARING Loose balls

BODY One piece nylon
+fiber body

WEIGHT 375g/PR

/ NW-366PC

SIZE 104x97x26mm

WEIGHT 392g/PR

BODY One piece PC body

AXLE Boron / Cr-Mo

BEARING Loose balls

/ NW-495

SIZE 108x94x24mm

WEIGHT 340g/PR

BODY One piece PP body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

TOE CLIP Available

TOE STRAP Available

/ NW-284

SIZE 108x108x27mm
WEIGHT 338g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo

BEARING = Loose balls

BODY One piece nylon+fiber
body
WEIGHT 376g/PR

MTB / ATB / CITY

/ NW-246

SIZE 106x72x25mm
WEIGHT 335g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-99B

SIZE 107x82x30mm
WEIGHT 300g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-99BH

SIZE 108x87x30mm
WEIGHT 310g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

TOE CLIP Available

TOE STRAP Available

/ NW-95A

SIZE 103x97x24mm
WEIGHT 292g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-248

SIZE 108.5x72x30.2mm
WEIGHT 336g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

FPD

/ NW-313

SIZE 110.5x76x26.8mm
WEIGHT 344g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-343

SIZE 105x78x28mm
WEIGHT 340g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-223

SIZE 101x77x26mm
WEIGHT 306g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-311

SIZE 108x75x33mm
WEIGHT 325g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-327

SIZE 110x75x29mm
WEIGHT 355g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

16



17

MTB / A¥B / CITY

/ NW-356

SIZE 108x68x30mm
WEIGHT 334g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-453

SIZE 106x76.5x25mm
WEIGHT 335g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-4825

SIZE 109x95x25mm
WEIGHT 360g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-351

SIZE 103x102x24mm
WEIGHT 324g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-315

SIZE 95.6x90x23mm
WEIGHT 314g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-312

SIZE 108x75x33mm
WEIGHT 359g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-97¢C

SIZE 106x72x25mm
WEIGHT 330g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-342

SIZE 105x72x24mm
WEIGHT 332g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-330

SIZE 106x88x26mm
WEIGHT 336g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-637 NEWE

SIZE 102x110.9x33 mm

WEIGHT 406g /PR

BODY One piece PP body
with TPR rubber

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

/ NW-619 NEHE

SIZE 93%x94.1x29 mm
WEIGHT 347g /PR

BODY One piece Nylon body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

/ NW-476

SIZE 84.2x74x23.7mm
WEIGHT 254g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

/ NW-86

SIZE 99.1x61x27mm
WEIGHT 268g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls
REFLECTOR Included

/ NW-450

SIZE 95x80x23mm
WEIGHT 278g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

BODY One piece nylon
+fiber body

WEIGHT 298g/PR

/ NW-615

SIZE 90.5x79.2x26mm

WEIGHT 276g/PR

BODY One piece PP body

AXLE Boron / Cr-Mo

BEARING Loose balls

REFLECTOR Included

<
&
S
2
©

FPD

/ NW-628 NEWE

SIZE 70.6x75%x26 mm
WEIGHT 264g /PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-477

SIZE 100.4x74x26mm
WEIGHT 304g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-310S

SIZE 97x80x23mm
WEIGHT 284g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

/ NW-90A

SIZE 96x65x26mm
WEIGHT 300g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

BEARING Ball-less

/ NW-616 NEWE

SIZE 109.2x91.6x33.5mm
WEIGHT 345g/PR

BODY One piece PP body
AXLE Boron / Cr-Mo
BEARING Loose balls

REFLECTOR Included

18



FPD

KID / FOEDING TOE CLIP / TOE STRAPS

FOLDING / TOE CLIP /

-
- - b
/ NW-85A / NW-253 S / 4 g
SIZE 95x61x21mm SIZE 98x68x23mm 4 & A
WEIGHT 223g/PR WEIGHT 266g/PR = [
BODY One piece PP body BODY One piece PP body &
AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo -
BEARING Ball-less BEARING Loose balls
REFLECTOR Included REFLECTOR Included E P 4
( ( - |
A | | ~N_ i — |h =
FOLDEN SIZE ' 59x74x28.8mm FOLDEN SIZE ' 59x74x28.8mm MATERIAL | CP Steel MATERIAL | CP Steel MATERIAL = CP Steel MATERIAL = CP Steel
NORMAL SIZE 109 4x74x28.8 SIZE S/M/L SIZE M/L SIZE S/M/L SIZE S/M/L
WEIGHT 460;g/>;’R x£e.omm \'\I‘\/%FG“:I-II:\I'L SIZE %ggéﬁfxmmm OPTION for road / comfort series OPTION for road / comfort series OPTION for road / comfort series OPTION for road / comfort series
BODY Burnished silver BODY One piece PC body
alloy body CAGE Nylon

CAGE Nylon AXLE Cr-Mo
AXLE Cr-Mo BEARING Loose balls
BEARING  Loose bals REFLECTOR | Incluced / NW-T51 / NW-T61 / NW-T81
REFLECTOR Included

MATERIAL = Nylon MATERIAL = Nylon MATERIAL = Nylon

SIZE L SIZE L SIZE S

WEIGHT 20g WEIGHT 72g WEIGHT 48g

OPTION Black color OPTION Black color OPTION Black color
FOLDEN SIZE | 60x76x35mm FOLDEN SIZE  60x79.3x29mm
NORMAL SIZE 109x76x35mm NORMAL SIZE  108x79.3x29mm o ERIAL SNV'O” HTERIAL [‘V'O”
WEIGHT 475g/PR WEIGHT 560g/PR
BODY One piece nylon BODY Burnished silver alloy g:.;?olﬂ glsagck color ‘3’:.:.?(;'::{ g?agck color

+fiber body body
CAGE Nylon with TPR rubber CAGE Alloy with TPR rubber /
AXLE Cr-Mo AXLE Cr-Mo “]E ST“APS
BEARING Loose balls BEARING Loose balls
REFLECTOR Included REFLECTOR Included
OPTION Axle : Alloy
Weight : 401g
AGCCESSORIES / TOE STRAP PP BK LEATHER TOE STRAP TOE STRAP PP BK
SIZE 450mm SIZE 420mm
REFLECTOR SET REFLECTOR SET REFLECTOR SET
snap-on Blot-type for standard MTB Pedal for FPD-C21

/ c-07 / c-08 / C-09 LEATHER COLOR

REFLECTOR SET REFLECTOR SET REFLECTOR SET

for FPD-C13 for FPD-C21 for NWL-393L e a

0 0 J
] A . ¥ 27 A -

L '~ e | & eS
(= & & & & &
BL-1 OR-1 RE-1 WH-1 BR-1 YE-1
BLUE ORANGE RED WHITE BROWN YELLOW

19 20



FITNESS

/_FPD-1001 / FPD-1003

SIZE 122x125x53.5mm SIZE 122x125x53.5mm
WEIGHT 687g/PR WEIGHT 906g/PR
BODY One piece PP body BODY One piece PP body
TOE STRAP TPR TOE STRAP TPR
AXLE Boron / Cr-Mo AXLE Boron / Cr-Mo
BEARING Loose balls BEARING Loose balls
SIZE 140x130x55mm
WEIGHT 790g/PR
BODY One piece PP body /
TOE STRAP TPR FPD-1 004
AXLE Boron / Cr-Mo
SIZE 120x67x30mm
BEARING Loose balls WEIGHT 398g/PR
BODY One piece PP body
TOE STRAP TPR
AXLE Boron / Cr-Mo
BEARING Loose balls
+T42+521 NEHHE
SIZE 110x81x28mm
WEIGHT 784g/PR
BODY Burnished alloy body
with TPR rubber
AXLE Cr-MO
BEARING Sealed bearing
CLEAT Shimano compatible
single side clip binding NWL'273BEX
TOE CLIP Included
TOE STRAP Included +T61 +531
SIZE 108x66x33mm
WEIGHI 614g/PR
BODY Burnished silver alloy
body
CAGE Steel / Alloy
NWL-366EX Ban e
BEARING Sealed bearing
+T61+531 NEHE CLEAT Shimano compatible
single side clip binding
SIZE 101x 104 x32mm TOE CLIP Included
WEIGHT 465g/PR TOESTRAP  Included
BODY PP black body with
Toe Clip and Toe Strap
AXLE Cr-Mo
BEARING Loose balls
+T61+S31  MEHE +T41+531  MEHE
SIZE 108 x 87 x 30mm SIZE 114x77.5x27.4mm
WEIGHT 432g/PR WEIGHT 562g/PR
BODY PP black body with BODY Silver alloy body/Steel cage
Toe Clip and Toe Strap with Toe Clip and Toe Strap
AXLE Cr-Mo AXLE Cr-Mo

BEARING Loose balls BEARING Loose balls

21 22



FBB-852 FBB-851
SEALED BEARING WITH ALUMINUM SLEEVE, COLD FORGED STEEL CUPS. SEALED BEARING WITH ALUMINUM SLEEVE, NYLON CUPS.
ISO-M / ISO-R ISO-M / ISO-R
LEFT / RIGHT CUP THREAD BC 1.37"x24T (BSA) LEFT / RIGHT CUP THREAD BC 1.37"x24T (BSA)
OPTION FBB-852I BC 36x24T (ltalian) OPTION FBB-851I BC 36x24T (ltalian)
BOLT M8x18mm, 12.9 Grade BOLT M8x18mm, 12.9 Grade
AXLE Square axle Bolt Type / Boron steel AXLE Square axle Bolt Type / Boron steel
BEARING 31x17x10 BEARING 31x17x10
Model BB Shell(D Al
OPTION FBB-852-S WITH STOPPER OPTION FBB-851-S WITH STOPPER LEFT RIGHT FBB-852/ 68/ 103 68 & 17
FBB-852 /68 / 107 68 18.5 20.5 54.5 107
FBB-842 FBB’841 7z FBB-852 /68 /111 68 22.5 20.5 54.5 111
N (@) FBB-852/68/113.5 68 225 23 57 113.5
SEALED BEARING WITH ALUMINUM SLEEVE, COLD FORGED STEEL CUPS. SEALED BEARING WITH ALUMINUM SLEEVE, NYLON CUPS. g*ﬁ FBB-852 /68 /115 68 23.5 23.5 57.5 115
FBB-852 /68 /116 68 23 25 59 116
ISo-¢ IS0-C FBB-852/68 /118 68 25 25 59 118
LEFT / RIGHT CUP THREAD BC 1.377x24T (BSA) LEFT / RIGHT CUP THREAD BC 1.37"x24T (BSA) _—— FBB-852/68/119 68 25 26 60 119
OPTION FBB-842I| BC 36x24T (ltalian) OPTION FBB-841l BC 36x24T (ltalian) FBB-852 /68 /122 68 26 28 62 122
BOLT M8x18mm, 12.9 Grade BOLT M8x18mm, 12.9 Grade { | FBB-852 / 68/ 1235 68 26 295 63.5 1235
QE:EUNG iciuare axle Bolt Type / Boron steel AXLE Square axle Bolt Type / Boron steel = FBB-852 /68 /124 68 27 29 63 124
x16x10 SEARING S o8 FBB-852 /68 / 127 68 285 305 645 127
OPTION FBB-842-S WITH STOPPER OPTION FBB-841-S WITH STOPPER FBB-852 /68 /129 68 28.5 32.5 66.5 129
~ < - ~ Al D C1 FBB-852/68 /131 68 293 337 667 131
| FBB-852 /68 /132 68 31 23 67 132
! C2 FBB-852 /68 /137 68 35 34 68 137
L FBB-852 /68 / 138.5 68 30.5 40 74 138.5
FBB-852 /68 /142 68 36 38 72 142
FBB-852/70/ 107 70 17.5 19.5 54.5 107
FBB-852/70/111 70 21.5 19.5 54.5 111
FBB-852/70/113.5 70 215 22 57 113.5
FBB-852/70/115 70 225 225 57.5 115
FBB-852/70/116 70 22 24 59 116
FBB-852/70/118 70 24 24 59 118
5 FBB-852/70/119 70 24 25 60 119
Bolt option: FBB-852/70/120 70 24 26 61 120
FBB-852/70/122 70 25 27 62 122
FBB-852/70/123.5 70 25 28.5 63.5 123.5
FBB-852/70/ 124 70 26 28 63 124
FBB-852/70/ 127 70 27.5 29.5 64.5 127
( N R FBB-852/70/129 70 27.5 315 66.5 129
FBB-852F FBB-742F NEW FBB-852/70 /131 70 283 327 677 131
FBB-852/70/ 132 70 30 32 67 132
SEALED BEARING WITH ALUMINUM SLEEVE, COLD FORGED STEEL CUPS, SEALED BEARING WITH ALUMINUM SLEEVE, COLD FORGED STEEL CUPS, FBB-852/70/138.5 w 2N ~ e
FOR CHAIN COVER APPLICATION FOR CHAIN COVER APPLICATION Egg—zzi ; ;gj 18% ;(3) 22 2; ;4215 135
ISO-M / ISO-R 1SO-C FBB-852 /73 /111 73 20 18 54.5 111
LEFT / RIGHT CUP THREAD BC 1.37"x24T (BSA) LEFT / RIGHT CUP THREAD BC 1.37” x 24T (BSA) FBE-852/75 /1135 /3 20 205 >’ 113.5
OPTION FBB-852] BC 36x24T (ltalian) NUT M10x7.2mm, 12.9 Grade FBB:852/73 /115 e 2L 2L 0 LD
BOLT M8x18mm, 12.9 Grade + Chain guard ring 4mm AXLE Square axle Nut Type / Boron steel FBB-852/73/116 73 20.5 22.5 59 116
AXLE Square axle Bolt Type / Boron steel BEARING 31x16x10 FBB-852/73/118 73 225 225 59 118
BEARING 31x17x10 ~ —~ FBB-852 /73 /119 73 22.5 23.5 60 119
FBB-852 /73 /120 73 22.5 24.5 61 120
OPTION FBB-852E-S WITH STOPPER FBB-852/73 /122 73 535 555 62 127
FBB-852 /73 /123.5 73 23.5 27 63.5 123.5
FBB—842E FBB-852/73 /124 73 245 26.5 63 124
FBB-852 /73 /127 73 26 28 64.5 127
ISO-C FBB-852 /73 /129 73 26 30 66.5 129
FBB-852 /73 /131 73 26.8 31.2 67.7 131
BEARING | 31x16x10 FBB-852/73 /132 73 285 305 67 132
OPTION FBB-842E-S WITH STOPPER FBB-852 /73 /138.5 73 28 37.5 74 138.5
- J FBB-852 /73 /142 73 335 35.5 72 142

23 24



OTTOM
BRACKET
| | BALL

FBB-832

BALL RETAINER, COLD FORGED STEEL CUPS,

TOTAL : 5PCS

Color Option : ED black / CP Silver

FBB-831B

BALL RETAINER, COLD FORGED STEEL CUPS,

TOTAL : 6PCS
Color Option : ED black / CP Silver LEFT RIGHT Model ~ BBShellD) A1 . 5 & ci L
N~ 7 3 68 23 305 52 305 22 113
3C 68 23 305 52 32 235 1145
4 3L 68 245 32 52 32 235 116
A B C 3A 68 245 32 52 335 25 117.5
3LP 68 275 35 52 32 235 119
3p 68 245 32 52 35 265 119
3N 68 245 32 52 36 275 120
J \ 35S 68 245 32 52 375 29 121.5
N s 3pL 68 275 35 52 35 265 122
AR KKK | 3NN 68 285 36 52 36 275 124
3s 68 275 35 52 375 29 124.5
—N R 3T 68 275 35 52 39 305 126
3U 68 275 35 52 405 32 127.5
3R 68 275 35 52 42 335 129
3UM 68 30 375 52 405 32 130
3RM 68 30 375 52 42 335 1315
( ) ) ( 3RMC 68 30 405 52 42 335 1345
FBB-831-ZB 5A 70 245 32 54 335 25 119.5
5p 70 245 32 54 35 265 121
5N 70 245 32 54 36 275 122
BALL RETAINER, COLD FORGED STEEL CUPS, N ) ‘ o cc %0 i 3 RS 136
TOTAL : 6PCS ! 55 70 275 35 54 375 29 126.5
: : 5T 70 275 35 54 39 305 128
L Color Option : ED black / CP Silver ) sU 70 27.5 35 54 40.5 BY) 129.5
5R 70 275 35 54 42 335 131
5NL 70 305 38 54 38 295 130
6NL 70 265 32 56 36 275 124
6N 70 265 32 56 37 285 125
6P 70 265 32 56 35 265 123
- N 6L 70 265 32 56 32 235 120
FB B_ 8 3 1 _ 3 B 65 70 295 35 56 375 29 128.5
6T 70 295 35 56 39 305 130
7NL 73 245 32 57 335 25 122.5
BALL RETAINER, COLD FORGED STEEL CUPS, 7N 73 24.5 32 57 35 26.5 124
TOTAL - 6PCS 75B 73 245 32 57 36 275 125
755 73 245 32 57 375 29 126.5
Color Option : ED black / CP Silver 7S 73 27.5 35 57 37.5 29 129.5
~ o 7T 73 275 35 57 39 305 131

7U 73 27.5 35 57 40.5 32 132.5



KL (KO REI=

Started out in the bicycle industry in the late eighties as a contract manufacturer
of bicycle parts in California.

Many people remember KORE's first product as the Thrashguard, but in fact
while the Thrashguard was in development Bob Morales was making licence
plate holders which he would fix to peoples cars and trucks at national US
mountain bike events.

In 1993, production of Thrashguards and seatposts had reached the point where
it became feasible to incorporate and open an office in Southern California.

KORE's offerings grew to include the first suspension-oriented lightweight
skewers and a lightweight stem. By 1995 the offerings had grown to include two
product levels: Elite which were American made products, and the Lite series,
an assortment of components made in Taiwan.

As Taiwan manufacturing prowess became more sophisticated, KORE moved
more items there until today where 100% of KORE products are produced in
what has become simply the best place to make bicycle components in the
world.

In 2016, KORE has step forward to the next level to add headset into our
product range. As a longtime partner for KORE, FPD is investing into its
Californian-grown brand, KORE Components, as it goes through a brand
image update for MY17. We are pleased to offer our customers this
increased value with KORE-branded headsets for MY17 and beyond, at no
extra charge, for your OEM build needs. It's a win win situation with added
value at no add cost!



HEADSET

In order to specify the KORE headset fit your requirement, please following the below steps, oD

Step 1: Select the type of headset you would like to use, external, internal, integrated, threaded.
Step 2: Pick the bearing diameters, heights, and angles that fits into your head tube design. T
Step 3: Choose the top cover shape, size, and height you preferred.

Step 4: If there is interference between the compression ring and top cover, use the micro oD

stainless steel shims to adjust the gap.

If you have an unique design of headtube, we would love to offer customized headset foryou. 1

Please contact our staff for detail.

36° X 45° Douhle Side Sealed Bearing / Semi-Cartridge Bearing

S-01 S04 = poq

435° X 45° Semi-Cartridge Bearing

F-07

S-01
S-04
B-01
F-07

OD x ID x Tmm  Fit Mold No.
41x30.15x7.7 IGA-1180A / IGA-1380A
38x27.15x6.5 IGA-1050A

38x27.15x6.5
51.8x40x8

IGA-1056A /STS-1056A
DOZER-1160A / DOZER-1280A

DOZER-1187AWF / DOZER-1189A

DOZER-1370AF-1

& & é |
5-02 F-04 F-08

5-02
F-04

F-08

OD x ID x Tmm  Fit Mold No.
41.8x30.5x7.7  IGA-1080A

41.8x30.5x8 DOZER-1568A / DOZER-1571A
DOZER-1370AF-1 / DOZER-1567A
52x40x7 DOZER-1568A / DOZER-1571A

DOZER-1567A / STS-1789A

45° X 45° Cartridge Sealed Bearing / Double Side Sealed Bearing

| OD x ID x Tmm Fit Mold No.

B-02 41x30.15x7

IGA-1086A / IGA-1486A / IGA-1886A / IGA-1086A

B-04
B-05
B-06
B-08
B-09

41.8x30.5x8
46.8x34.1x7
52x40x7

51.8x40x8 (36°*45°)
41.8x30.15x6.5

‘,_. -

! N
o —
B-02

i

o

CHEX-1085A / CHEX-1086A / DOZER-1046A / DOZER-1266A / DOZER-1267A / DOZER-1366A / DOZER-1367A

IGA-1186A / IGA-1986A / DOZER-1146A / DOZER-1346A / DOZER-1066A / DOZER-1566A
DOZER-1045A / DOZER-1046A / DOZER-1146A / DOZER-1346A
DOZER-1066A / DOZER-1566A
CHEX-1388A / DOZER-1266A / DOZER-1267A / DOZER-1366A / DOZER-1367A
IGA-1086A-B09 / IGA-1186B-1-B09

B-08

B-09

Choosing your favor headset with following Top cover.

e Size: 1-1/8" e Color: BK/SL/any color

1 1IGA-1186

1 IGA-1056 / IGA-1050 / IGA-1156 / IGA-1150

For Example: Headset > IGA-1186 + Top cover A1 = IGA-1186A1
e Height :A=15mm; B=8mm ;C=25mm

1 IGA-1486 / IGA-1180 / IGA-1380 / DOZER-1146-NY / IGA-1086-B09 / IGA-1186-1-B09 / IGA-1181

1 1GA-1986 / IGA-1080 / IGA-1886 / DOZER-1066 / DOZER-1146 / DOZER-1036B / DOZER-1370AF-1
: DOZER-1568 / DOZER-1566 / DOZER-1346 / DOZER-1571

1 1GA-1281 / IGA-1281NF15 / STS-1789 / STS-1790

50 mm: CHEX-1189 / CHEX-1288 / CHEX-1387 / CHEX-1487 / CHEX-1086 / CHEX-1088 / CHEX-1188 / CHEX-1187
CHEX-1286 / CHEX-1190 / DOZER-1085 / DOZER-1367 / DOZER-1045 / DOZER-1046 / DOZER-1048 / DOZER-1058
DOZER-1366 / DOZER-1266 / DOZER-1267 / DOZER-1160 / DOZER-1861 / DOZER-1280 / DOZER-1280-2

55 mm: CHEX-1029 / CHEX-1026

Height (B)=8 mm

Height (A)=15 mm

Height (C)=25 mm

—,

B 0~

B1 .,;‘ﬁ;

n
e )
:Is IDP44 0.0
BT
¢

5. |iog4a s
2

OD@50:0.1

D@44 So

OD@50 0.1

0D@50 :0.1

0D@50 20
D@44 S0

) IDg49.7

IDP55/56 0

40,05
0

+0.05

$39.8/30 81

0D@41.5

Crown Race

0.1

D@34

0
005

Internal Headset
1-1/8" Upper & Bottom

3/3.2/3.8/7.7 92

Bearing Model Page
Ball Bearing CHEX-1800A P8
K-829(Threaded) P36
Z-type Bearing CHEX-1089 P3
CHEX-1189 P3
CHEX-1190 P4
CHEX-1387A PS5
CHEX-1188A P5
CHEX-1088A P6
K-807-AL(Threaded) P35
Sealed Bearing CHEX-1086A P6

Internal Headset
1-1/8" Upper & 1-1/4" Bottom

Bearing Model Page
Z-type Bearing DOZER-1045A P9
DOZER-1046A P9

Internal Headset
1-1/8" Upper & 1-1/2" Bottom

Bearing Model Page
Ball Bearing DOZER-1048A P10
DOZER-1058A P10
Z-type Bearing DOZER-1861A P14
DOZER-1889A P7
Sealed Bearing CHEX-1804B P4
CHEX-1924BF P14
DOZER-1924B P15
DOZER-1160A-2 P11
DOZER-1266A P11
DOZER-1267A P12
DOZER-1280A P12
DOZER-1366A P13
DOZER-1367A P13
DOZER-1887AWF P7

Upper 1-1/4" available
Upper 1-1/2" available

Upper Internal & Bottom External
1-1/8" Upper & Bottom

Bearing Model Page
Semi-Cartridge CHEX-1388A P8
STS-1789A P29

External Headset
1-1/8" Upper & Bottom

Bearing Model Page
Ball Bearing STS-1489A P29
STS-1389 P25
STS-1889 P26
STS-1189 P27
STS-1089 P28
K-826 (Threaded) P34
K-827LY(Threaded) P34
K-817 (Threaded) P35
Z-type Bearing STS-1288A P27
STS-1388A P28
Sealed bearing STS-1086 P26
1-1/8"Upper & 1-1/2" Bottom

Semi-Cartridge DOZER-1927AH P31

NEADSEN

OD@42/44.5/45/46/48/48.5 01
1Dg41.2/42 %"

3/3.2/3.8/7.7 52

0
302

64/7.4/7.5/7.8 92

0D@50 <0
D44 '’

0D@46/47/48 +0.1

pga2

P\ Crown Race
IDgs2.2 3"

0D@42 =01
|iDg3s2 G’

7

%)

7

Integrated Headset
1-1/8" Upper & Bottom

Bearing Model Page

Semi Cartaidge IGA-1180A P16
IGA-1380A P17
IGA-1280A P17
IGA-1080A P18
IGA-1086A P18

Sealed Bearing IGA-1486A P19
IGA-1886A P19
IGA-1186A P20
IGA-1986A P20

Integrated Headset
1-1/8" Upper & 1-1/4" Bottom
Model

Bearing Page

Sealed Bearing DOZER-1146A P21

Integrated Headset
1-1/8" Upper & 1-1/2" Bottom

Bearing Model Page
Semi Cartaidge DOZER-1568A P23
DOZER-1571A P23
DOZER-1370AF-1 p24
DOZER-1567A P24
Sealed Bearing DOZER-1066A P22
DOZER-1566A P22

Integrated Headset

1" Upper & Bottom

Bearing Model Page
Semi Cartaidge IGA-1050A P21
Sealed Bearing IGA-1056A P16

External Headset
1" Upper & Bottom

Bearing Model Page

Ball Bearing STS-1059A P30
K-101(Threaded P32
K-104(Threaded P33

)

)
K-105(Threaded) P36

)

)

Z-type Bearing K-102(Threaded P32
K-103(Threaded P33
Sealed Bearing STS-1056A P30

1-1/8"Upper & 1-1/2" Bottom

Sealed Bearing DOZER-1926A P31



03

HEADSE T SEMI-INTEGRATED

SEMI-INTEGRATED “Ek“SE-‘

KORE KORE
1JBE . ija .
Item No. £Y7j% : CHEX-1089 NEW o Item No. ZY5% : CHEX-1190 NEW
|
= o P =]
— v ° —— 5
;ﬂ[; ) ©
Type : Semi-Integrated Headsets — Type : Semi-Integrated Headsets *
Upper : Upper :
1-1/8" Steel cup/ Z-type bearing 1-1/8" Steel cup/ Z-type bearing
: ) Bottom : Bottom :
1-1/8" Steel cup/ Z-type bearing 1-1/8" Steel cup/ Z-type bearing
ElF,Ol:OA
244905
| @50+0.1
‘ @443
Head Tube Size & R~f ZS 44/28.6 - ZS 44/30 ! Head Tube Size & R~f ZS 44/28.6 - ZS 44/30 &
Stack Height iS5 4.7+4=8.7 (+1.0/-0.5) ! Stack Height #i5 17.7+3.6=21.3+1/-0.5
| - -
1 Compression Rng BZE  32004-04 6061-T6 1 1 Top CoverBiEzE 82095-02 6061-T6 1
:@ 2 O-Ril’]g Oﬂ% 32030-03 Rubber 1
2 Crown Race %& 32004-06 Steel 2 3 Compression Ring J8Z3E  32090-08 6061-T6 1 i a——
3 Z-T\/DG“E%SH 32005-04 ABS 2 w 4 Crown Race ZkZE 32004-05 Steel 2
5  ZTypeRER 32005-04 ABS 1
. << —_—
4 | Ball Retainer 3R5LE SO0 Seel Z —_— . 6  Bal Retainer %5548 32008-05 Steel 2
5 Cuphi 32005-02 Steel 2 = 7 Cupfm 32006-02 Steel 2
! 8 Seal 7K 32005-03 Nylon 1
6 Seal fr7KE 32005-03 Nylon 2
1JBE . ja .
Item No. £Y7j% : CHEX-1189 NEW Item No. 25 : CHEX-1804B NEW
Type : External Headsets
Type : Semi-Integrated Headsets Upper :
Upper : 1-1/8" Alloy Cup /Cartridge bearing (B-04)
1-1/8" Steel cup/ Z-type bearing Bottom :
Bottom : 1-1/2" Alloy Cup /Cartridge bearing (B-08)
1-1/8" Steel cup/ Z-type bearing
261
| | @56 805 ——
Head Tube Size Bi& R~ ZS 44/28.6 - ZS 44/30 Head Tube Size BEE R ~F ZS 56/28.6 - ZS 56/40
Stack Height 5 17.7+4=22.1 (+1.0/-0.5) Stack Height $85 10.7+3.0=13.7 (+1.0/-0.5)
\ L
1 Top CoverfrEEES 32090-04 6061-T6 1 1 Top CoverfhEEZ 38804-02 6061-T6 1 o
2 O-Ring O#IR 32030-03 Rubber 1 5 2 O-Ring OAIR 320380-03 Rubber 1 :
3 Compression Ring 18 & Ix 32090-08 6061-T6 1 :@ 3 Compression Ring 18 &R 32086-03 6061-T6 1
4 Crown Race k2 32004-05 Steel 2 ey 4 Bearing - #fi7& 32086-04 Suj2 1
5 Z-TypeRE R 32005-04 ABS 1 —_— 5 Cup £#E 38804-03 6061-T6 1
6 Ball Retainer k&40 32008-05 Steel 2 = ® 6 Cup T8 32311-02 6061-T6 1
7 Cup i 32005-02 Steel 2 *’1@7 7 Bearing 7k 32095-04 Suj2 1
8 Seal B7KE 32005-03 Nylon 1 8 Crown Race N2 32301-02 6061-T6 1
Customized Alloy Top Cover : Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
- ' . N Y - ' =
== = Wl W Y. .§ Wi e o S8 o

e8s,

&

L ¥ Y. Yoy

A2



HEADSE T SEMI-INTEGRATED

Item No. 5% : CHEX-1387A

KORE

Type : Semi-Integrated Headsets
Upper :

1-1/8"" Z-typer bearing

Bottom :

1-1/8"" Z-type bearing

Head Tube Size SEE R~ ZS 44/28.6 - ZS 44/30

Stack Height {5 17.3+2.5=19.8(+1.0/-0.5)

1 Top Cover BhiEeZ: 32053-02 6061-T6 1

2  ORing OB 32030-03 [RliilEiEs 1 7——

3 Compression Ring 18 & I& 32081-03 6061-T6 1 . ﬂ—®
4 ZtypeBeaing EEXBE  35832-02 Steel 2

5  CrownRace T= 35803-05 Steel 1 T ©

Item No. 77 : CHEX-1188A

Type : Semi-Integrated Headsets

Upper :
1-1/8"" Z-typer bearing
Bottom :
?36.8
_ 7. : |
1-1/8"" Z-type bearing 4 o
—t— 0

Head Tube Size SHE R~ ZS 44/28.6 - ZS 44/30

Stack Height 85 12.1+4.0=16.1 (+1.0/-0.5)

11.5

] —0O
1 Seal BHEEME 32078-02 Rubber 1
2  ORIng ORI 32030-03 Rubber 1
3 Top Cover FhEEZ 32078-03 6061-T6 1
4 Seal FiKE 32078-04 Rubber 1 g
5  ZtpeBeaing EEXBIAE  32051-04 Steel > :ﬁ‘:%‘ ©
6 Crown Race & 32051-06 Steel 1

Customized Alloy Top Cover :
Height (B)=8

mmHeight (A)=15 mmHeight (C)=25 mm Height (B)=8

05

KORE

Customized Alloy Top Cover :

88208 e 888860

SEMI-INTEGRATED “Ek“SE-‘

Item No. 277 : CHEX-1088A

é’ Type : Semi-Integrated Headsets
Upper :
1-1/8"" Z-typer bearing
Bottom :
1-1/8"" Z-type bearing

Head Tube Size SEE R~ ZS 44/28.6-ZS 44/30

Stack Height 85 7.1+4.0=11.1+1.0/-0.5

1 Top Cover FhEEE 32051-02 6061-T6 1
2 Compression Ring 18 &R 32051-03 6061-T6 1
8 Z-type Bearing RE I\ HiH 32051-04 Steel 2
4 Crown Race % 32051-06 Steel 1

Item No. !5 : CHEX-1086A

Type : Semi-Integrated Headsets g@l_@

Upper :

1-1/8"" Alloy cup/Cartridge bearing (B-02) ®
Bottom :

1-1/8"" Alloy cup/Cartridge bearing (B-02) — ()

Head Tube Size SHE R~ ZS 44/28.6 - ZS 44/30

Stack Height iS5

12.6+6.1=18.7 +1.0/-0.5

EH
y

1 Top Cover BhEEZS 32034-02 6061-T6 1
2 O Ring O&lix 32030-03 Rubber 1
3 Seal Fh7KE 32034-03 ABS 2
4 Bearing 5k 32026-05 Suj2 2
5 Cup £ T8 32034-04 6061-T6 1
6 Crown Race T2 32034-05 6061-T6 1

mmHeight (A)=15 mmHeight (C)=25 mm

L ¥ Y. Yoy




07

HEADSE T SEMI-INTEGRATED

Item No. £!7j% : DOZER-1887AWF

Type: Semi-Integrated Headsets

Upper :

1-1/8"" Alloy cup/Semi-cartridge bearing (F-05)
Bottom :

1-1/2"" Alloy cup/Semi-cartridge bearing (F-07)

Head Tube Size SEE R~ ZS 44/28.6 - ZS 56/30

Stack Height $85 17.7+3.0=20.7(+1/-0.5)

1 Top Cover BHEEZ 32090-04 6061-T6 1
2 O-ring ORVE 32030-03 BBl 1
8 Compression Ring 18 & Ix 32085-02 6061-T6 1
4 Bearing 7 32058-08 Suj2 1
5 Cup £ 32026-04B 6061-T6 1
6 Cup T8 32311-02 6061-T6 1
7 Bearing 7 30166-02 Suj2 1
8 Crown Race & 32098-03 6061-T6 1

Item No. 7% : DOZER-1889A

Type : Semi-Integrated Headsets

Upper :

1-1/8"" Z-typer Bearing

Bottom :

1-1/2"" Alloy cup/Semi-cartridge bearing (F-07)

Head Tube Size SEE R~ ZS 44/28.6 - ZS 56/39.8

Stack Height 85 17.4+3.0=20.4 ( +1.0/-0.5)

1 Top Cover BHEEZS 32090-04 6061-T6 1
2 O-Ring OfilIx 32030-03 Rubber 1
Q Compression Ring 18 & Ix 32174-05 6061-T6 1
4 Cup REXBA 32051-04 Steel 1
5 Cup T8 32311-02 6061-T6 1
6  Bearng & 30166-02 Su2 1
7 Crown Race 2& 32301-02 6061-T6 1

Customized Alloy Top Cover :

50+0.1

365

—_— 0

229+0.1

T H 7 ®
o -_

SEMI-INTEGRATED “Ek“SE-‘

Height (B)=8 mmHeight (A)=15

()

mmHeight (C)=25 mm

888

KORE KORE
ija .
Item No. Z!5% : CHEX-1800A
Type : Semi-Integrated Headsets
Upper :
1-1/8"" Steel cup/Ball Retainer oo
Bottom : m‘ﬁ;‘:y‘—@
1-1/8"" Z-type bearing
Head Tube Size Si& R~ ZS 44/28.6 - ZS 44/30
Stack Height 85 4.5+3.0=7.5+1.0/-0.5
1 Compression Ring 18 &R 32004-04 Nylon 1 115
2 Crown Race £ZE 32004-06 Steel 1 J
3 Seal Fh7KE 32005-03 Nylon 1 )
4 Ball Retainer ZR& 32008-05 Steel 1 ”’
5 Cup £T8E 32005-02 Steel 1 oo
6  Z-type Bearing EZ WAl 32100-09 Steel 1
7 Seal Fh7KE 32100-08 ABS 1
8  CrownRace NZE 32100-07 Steel 1
ija .
Item No. Z!57 : CHEX-1388A
Type : Semi-Integrated Headsets
Upper :
1-1/8"" Z-typer bearing
Bottom :
1-1/8"" Alloy cup/Cartridge bearing (B-08) A | ‘
@50+0.1
Stack Height 5 17.7+13.7=31.4(+0.1/-0.5
1 Top Cover FHEEE 32080-09 6061-T6 1
2 O Ring Ofl1x 320380-03 Rt 1
3 Compression Ring 18 & I& 32174-04 6061-T6 1
4 ZType Bearing REXBIAH  32051-04 Steel 1
5  Cup 8B 32174-02 6061-T6 1
6 Bearing #17& 32095-04 Suj2 1 .
7 Crown Race T2 32311-03 Steel 1 40 1
Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
E L =g e
_X8¥ S 88806680

L ¥ Y. Yoy



Customized Alloy Top Cover :
Height (B)=8

HEADSE T SEMI-INTEGRATED

Item No. £Y7j% : DOZER-1045A

Head Tube Size S8& R~

Stack Height 5

1 Top Cover BhEEZE 32104-02 Carbon 1
2 O Ring OflzR 320380-03 Rubber 1
3 Compression Ring 28 3% 32038-18S 6061-T6 1
4 Bearing 87 32038-08 Suj2 1
5 Cup 1 32104-03 6060-T6 1
6 Cup T8 32102-02 6060-T6 1
7 Bearing #7& 32102-04 Suj2 1
8 Crown Race T3& 32102-05 Steel 1

KORE

Type : Semi-Integrated Headsets

Upper :

1-1/8"" Z-typer bearing 220
Bottom : T
1-1/4"" Alloy cup/Cartridge bearing (B-05) ';I ‘

ZS 50/28.6 - ZS 55.5/33

12.7+3=15.7 (+1.0/-0.5)

1 Top Cover FhEEE 31045-01 6060-T6 1

2 O Ring O#l1x 32030-03 Rubber 1

3 Compression Ring 18 & Ix 32038-18S 6061-T6 1

4 ZType Bearing REXHIA ~ 32051-04 Steel 2

5 Cup T8 32102-02 6060-T6 1

6 Bearing ##7 32109-02 Suj2 1 0us5
7 Crown Race N2 31045-02 Steel 1 :

Item No. £Y7j% : DOZER-1046A

=

Head Tube Size SHE R~
Stack Height 15 12.7+3=15.7 (+1.0/-0.5)

Type : Semi-Integrated Headsets

Upper :

1-1/8"" Alloy cup/Cartridge bearing (B-02)
Bottom :

1-1/4"" Alloy cup/Cartridge bearing (B-05)

ZS 50/28.6 - ZS 55.5/33

o @ =

=
e

mmHeight (A)=15

&

mmHeight (C)=25 mm

=~

T

&

()

88280

KORE

Item No. Y75 : DOZER-1048A

Type : Semi-Integrated Headsets
Upper :

1-1/8"" Steel cup/Ball Retainer
Bottom :

1-1/2"" Steel cup/Ball Retainer

Head Tube Size SEE& R~J

ZS 44/28.6 - ZS 56/39.8

Stack Height 185 18.5+2.7=21.2+1/-0.5

1 Top Cover BHEEZ 32235-02 6061-T6
2 O Ring Oflig 32080-03 Rub Ber
3 Compression Ring 18 R 32233-03 Nylon

4 Crown Race 2 32008-04 Steel

5 Seal ERR7KE 32233-05 Rubber
6  Bal Retainer LZR& 32008-05 T

7 Cup t#e 320056-02 Steel

8  Aloy Cup #E 32234-02 Steel

9  Bal Retainer FERE 32234-05 il

10 Seal NEH7KE 32234-03 JEW

11 Crown Race N2 32234-04 Steel

Item No. 55 :DOZER-1058A

Type : Semi-Integrated Headsets
Upper :

1-1/8"" Steel cup/Ball Retainer
Bottom :

1-1/2"" Steel cup/Ball Retainer

Head Tube Size S8 R~

Stack Height 85 18.5+2.7=21.2+1/-0.5

ZS 44/28.6 - ZS 56/39.8

NN (NN, BN . RN . N .

448"

@567

SEMI-INTEGRATED “Ek“SE-‘

1 Top Cover BhEEZ 32235-02 6061-T6 1 =
2 ORIng O 32233-03 Nylon 1 < ,©
3 Compression Ring 18 21 32030-03 Rubber 1
4 Crown Race 2 32008-04 Steel 1 @rocdocom—0
5 Seal £BR7KE 32233-05 Rubber 1
6  BallRetainer L% & 32008-05 Steel 1 - %
7 Cup £#E 32005-02 Steel 1 g
8  Aloy Cup T 32236-02 Steel 1 ] —®
9 Ball Retainer NERE 32236-05 Steel 1 2214
10 Seal FEHKE 32236-03 Rubber 1
11 Crown Race N2 32237-02 Steel 1
Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
S— = = . g -:-: = E - =3
o8 r & O & e C& . S n { )

888

10



Head Tube Size SBE R~J

Stack Height 5

1 Top Cover FhEEZS 32235-02 6061-T6 1
2 O-ring ORYER 32080-03 Rubber 1
3 Comperss Ring 221 32233-03 Nylon 1
4 Crown £ZRZE 32008-04 Steel 1
5 Seal Br7KE 32233-05 Nylon 1
6 Ball Retainer EERE 32008-05 Steel 1
7 Cup e 32005-02 Steel 1
8 Cup T 32311-02 6061-T6 1
9  Sealed Bearing T ##7& 31066-02 Suj2 1
10 Crown RERE 32301-02 6061-T6 1

O ring OfER
Seal Bh7KE
Cup s
CUP i
M
TER

@ N o OO0~ 0N =

HEADSE T SEMI-INTEGRATED

Item No. £!7j% : DOZER-1160A-2

349,50,

Type : Semi-Integrated Headsets

_=D—@
Upper : 5
1-1/8" Steel cup/Ball Retainer 2 oy
Bottom : Iﬁi@o
1-1/2"" Alloy cup/Semi-cartridge bearing (F-07) T -
;@

———0@38.7-

ZS 44/28.6 - ZS 56/39.8

18.5+3.0=21.5(+1.0/-0.5)

Item No. 5% : DOZER-1266A

Head Tube Size SHE R~
Stack Height 85

TOP COVER FhEEZ=

Type : Semi-Integrated Headsets

Upper:

1-1/8"" Alloy cup/Cartridge bearing (B-02)
Bottom :

1-1/2"" Alloy cup/Cartridge bearing (B-08) |

ZS 44/28.6 - ZS 55/30

11+3.0=13.9(+1.0/-0.5) |

SEMI-INTEGRATED “Ek“SE-‘

Item No. Y75 : DOZER-1267A

KORE KORE

Type : Semi-Integrated Headsets

= Upper : ‘W“Sl?és ‘
1-1/8"" Alloy cup/Cartridge bearing (B-02) T j
Bottom : p—
1-1/2"" Alloy cup/Cartridge bearing (B-08)
——=0
. —®
Head Tube Size BHE R~ ZS 44/28.6 - ZS 56/30 o |
Stack Height 85 18+3.0=21+1/-0.5 ‘
el 0
1 Top Cover fiEEE 32344-02 6061-T6 1 %ﬁ‘
2  O-Ring ORI 32030-03 Rubber 1 o —®
3 Sea BHKE 32078-04 Rubber 1
4 Bearing E& 32038-08 Sui2 1 R
5  Cup I 32026-04B 6061-T6 1 4 ©
6  Cup N 32311-02 6061-T6 1 ‘
7 Bearing # 32095-04 L i 1 g —0®
8  CrownRace F& 32098-03 6061-T6 1

Item No. !5 : DOZER-1280A

Type : Semi-Integrated Headsets

- Upper : '—ﬂﬁ‘ g
1-1/8"" Alloy cup/Semi-cartridge bearing (F-05) o —0
Bottom :
1-1/2"" Alloy cup/Semi-cartridge bearing (F-07) — ®
H 092.2 8

ZS 44/28.6 - ZS 56/39.8 i

Head Tube Size SBE R~T
Stack Height 85 14.5+3.0=17.5+1/-0.5 , ‘
| suckHoigm 8% | 7o

]

Customized Alloy Top Cover :

Height (B)=8

Crown Race 2

32008-02 60671-T6 1 B
32030-03 T RS 1 @ =0
32078-04 JE#E 1

32026-04B 6061-T6 1 ]
32096-02 60671-T6 1 “L%—@
32038-08 Su2 1 ‘

32095-04 Su2 1 = o
32008-03 Steel 1

e @ r_"

mmHeight (A)=15

= @

S &

mmHeight (C)=25 mm

888

1 Top Cover B5EEZ 31281-02 6061-T6 1 %
2 O-ing OBYR 32030-03 Rubber 1 . ©
3 Seal Br7KE 32078-04 Rubber 1 0518
4 Bearing 17 32058-08 Suj2 1 3 | o
) Cup £#8 32026-04B 6061-T6 1 20
6 Cup T8 32311-02 6061-T6 1 <
7 Bearing B 30166-02 Suj2 1 ==
8  CrownRace % 32301-02 6061-T6 1

Customized Alloy Top Cover :

Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm

- - = p— e
s e 88806

S 882080 B



13

HEADSE T SEMI-INTEGRATED

Item No. 7% : DOZER-1366A

Customized Alloy Top Cover :

Height (B)=8
S
eece e

KORE

Type : Semi-Integrated Headsets

Upper :

1-1/8"" Alloy cup/Cartridge bearing (B-02) 2500
Bottom :
1-1/2"" Alloy cup/Cartridge bearing (B-08) ‘

)
i

. 5 e 41
1 )
ma,c‘}w J
1 Top Cover BHEEZ 32090-04 6061-T6 1 o ess0sg
2 O-Ring OREE 3203003 Rubber 1 s@@
8 Compression Ring 18 & Ix 31366-01 6061-T6 1
4 Cup £ 32026-04B 6061-T6 1 e
5  Cup FEE 32096-02 6061-T6 1 gl v
6  EEM 32038-08 Su2 1
7 TEM 32095-04 Suj2 1 = —®
8  CrownRace T 32301-02 6061-T6 1

Item No. £Y7j% : DOZER-1367A

Type : Semi-Integrated Headsets

Upper :
e 1-1/8"" Alloy cup/Cartridge bearing (B-02) w‘ ﬂ—@
Bottom :
1-1/2"" Alloy cup/Cartridge bearing (B-08) — 0
©@33.4
= —0
gl —O
Head Tube Size SEE R~ ZS 44/28.6 - ZS 56/39.8 ——or |
Stack Height 85 17.5+3.0=20.5(+1.0/-0.5) @z%
447G7
1 Top Cover FhEEZ 32090-04 6061-T6 1
2 O-Ring Of{ER 320380-03 Rubber 1
S Compression Ring 28 3% 31366-01 6061-T6 1
4 Bearing 87 32058-08 Suj2 1
5 Cup £#8 32026-04B 6061-T6 1
6 Cup T8 32311-02 6061-T6 1
7 Bearing #7& 31280-04 Suj2 1
8 Crown Race T3& 32311-03 Steel 1

= @

mmHeight (A)=15

&o s

mmHeight (C)=25 mm

88280

KORE

=

Head Tube Size S8& R ~F

SEMI-INTEGRATED “Ek“SE-‘

Item No. £Y7j% : DOZER-1861A

Type : Semi-Integrated Headsets

Upper :

1-1/8"" Z-type bearing
Bottom :

1-1/2"" Z-type bearing

ZS 44/28.6 - ZS 56/39.8

Stack Height 85 17.7+3.9=21.6 ( +1/-0.5)

Top Cover FhEEZS

O-ring OBYER

Compression Ring 18 25

Cup REAHIAE
Cup & B
Crown Race 28

Head Tube Size S8& R ~F

Stack Height 5

32090-04 6061-T6
32030-03 Rubber
32174-05 6061-T6
32051-04 Steel
32137-03 Steel
32137-02 Steel

Item No. 55 : CHEX-1924BF

NEW

Type : Semi-Integrated Headsets

Upper :

1-1/8” Alloy cup/Semi-cartridge bearing(F-05)

Bottom :

1-1/8” Alloy cup/Semi-cartridge bearing(F-05)

ZS 55/28.6 - ZS 55/30

10.4+2.7=13.1 (+1.0/-0.5)

R
N

1 Top CoverBhEEE 31924-02 6061-T6

2  O-Ring OfzR 32030-03 Rubber —

3 Compression Ring 182 32792-03 6061-T6 .

4 Bearing &7 32058-08 Suj2

5 Cup 31924-03 6061-T6

6  CrownRace N2 32323-02 Steel

1 o4

Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
e e— p— p . = - E - =g
W W W T W W) B

888

14



HEADSE T SEMI-INTEGRATED

KORE KORE
J 287 10
Item No. ZY5% : DOZER-1924B NEW 1 s
T 0
. ‘:g;:ﬁ—@
Type : External Headsets T
Upper : [ !
1-1/8” Alloy cup/Semi-cartridge bearing(F-05) .
Bottom : LE%WS:%@
1-1/2” Alloy cup/Semi-cartridge bearing(F-07) T :
Head Tube Size SHE R ~F ZS 55/28.6 - ZS 56/40 500, Head
— e
Stack Height 15 10.4+3=13.4 (+1.0/-0.5) |
|
|
1 Top CoverBrEEE 31924-02 6061-T6 1 ‘ 1
2 O-Ring OfIR 32080-03 Rubber 1 ‘
3 Compression Ring 18 &% 32792-03 6061-T6 1 2
4 Bearing LR 05808 Sup : e .
5 Cup £ 31924-03 6061-T6 1
= C—I—A—0
6 Cup NHE 32311-02 6061-T6 1 4
7 Bearing FEh& 31066-02 Su2 1 L " 5
8  CrownRace FE& 32311-08 Steel 1 ! ot

Tube Size SBE R~

Stack Height 85

Top Cover FhEEZS

O-Ring Ol
Compression Ring 18 25
Bearing 17

Crown Race &

INTEGRATED “Ek“SE-‘

Item No. Z!57% : IGA-1056A

Type : Integrated Headsets
Upper :

1"" Cartridge bearing (B-01)
Bottom :

1"" Cartridge bearing (B-01)
OPTION :

IGA-1156A - 26.4mm crown race

42

IS 38.2/25.4-1S 38.2/27.0

8.7+1.0=9.7(+1.0/-0.5)

32066-02 6061-T6 1 f
32066-03 Rubber 1
32066-04 6061-T6 1
32066-05 Suj2 2
32066-11 Steel 1

Item No. Z!57% : IGA-1180A

Head

Stack Height #i5

Customized Alloy Top Cover : Customized Alloy Top Cover :

Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm Height (B)=8
e e - e——— ;.‘=. = - e e
S ed; D & — 55 (s OO SO D

15

88280

Tube Size SBEE R~

Type : Integrated Headsets

Upper :

1-1/8"" Semi-cartridge bearing (S-01)
Bottom :

1-1/8"" Semi-cartridge bearing (S-01)

IS 41.2/28.6-1S 41.2/30

15.7+1.0=16.7(+1.0/-0.5)

Top Cover FHEEE 32084-02 6061-T6 1
O-Ring Ofilix 32030-03 Rubber 1
Compression Ring 18 R 32084-03 6061-T6 1
Bearing 17 32084-04 Suj2 2
Crown Race T2 32084-06 Steel 1
mmHeight (A)=15 mmHeight (C)=25 mm
- e——— = -
r b ) & = (5 T e

16

88280




HEADSE T INTEGRATED

Item No. ZY5% : IGA-1380A

Type : Integrated Headsets

Upper :

1-1/8"" Semi-cartridge bearing (S-01)
Bottom :

1-1/8"" Semi-cartridge bearing (S-01)

15.7+1.0=16.7(+1.0/-0.5)

1 Top Cover BHEEZ 32089-02 6061-T6
2 O-Ring O#IR 32030-03 Rubber
3 Compression Ring 18 £I& 32089-03 6061-T6
4 Bearing B 32084-04 Suj2

5 Crown Race T2 32089-04 Steel

Item No. Z!7% : IGA-1280A

Type : Integrated Headsets

Upper :

1-1/8"" Semi-cartridge bearing (S-05)
Bottom :

1-1/8"" Semi-cartridge bearing (S-05)

Head Tube Size SHE R~
Stack Height 185

IS 41.2/28.8-IS 41.2/30

8.2+1=9.2(+1.0/-0.5)

1 Top Cover fhEEZ: 32058-02 6061-T6
2 O-Ring Of{ER 32030-03 Rubber
3 Compression Ring 18 2R 32038-18S 6061-T6
4 Bearing &5 32058-08 Suj2

5 Crown Race T2 32051-06 Steel

Customized Alloy Top Cover :

1

1

1 @334

2408

@45

INTEGRATED “Ek“SE-‘

Height (B)=8 mmHeight (A)=15

e = .
o8 r & O

17

ssas o

mmHeight (C)=25 mm

KORE KORE
ija .
Item No. Z253 : IGA-1080A
Type : Integrated Headsets
Upper :
1-1/8"" Semi-cartridge bearing (S-02)
Bottom :
1-1/8"" Semi-cartridge bearing (S-02)
Stack Height 185 .7(+1.0/-0.5)
1 Top Cover BiEEZ 32052-03 6061-T6 1 H et
50 @
2 O-Ring O#IR 320380-03 Rubber 1 Vo] s e
3 Compression Ring 18 R 32052-04 6061-T6 1
4 Bearing 87 32052-05 Ly 2
5 Crown Race N2 32089-04 Steel 1
ija .
Item No. 253 : IGA-1086A
Type : Integrated Headsets
Upper :
1-1/8"" Cartridge bearing (B-02)
Bottom :
1-1/8"" Cartridge bearing (B-02)
Head Tube Size S8 R~J IS 41.2/28.8-IS 41.2/30
Stack Height 5 8.2+1=9.2(+1.0/-0.5)
1 Top Cover FHEEE 32058-02 6061-T6 1
2 O-Ring O#IR 320380-03 Rubber 1
3 Compression Ring 18 R 32055-08 6061-T6 1
4 Bearing ##7 32088-08 Suj2 2
5 Crown Race N2 32051-06 Steel 1
Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
. L~ =g

o8 r & O

Y- Y-

A2

S 88280



Customized Alloy Top Cover :

1

Stack Height #85

Top Cover BhHEEZ

O-Ring OfilE2

Compression Ring ¥ E258

Bearing B
Crown Race T2&

Head Tube Size S8E R~
Stack Height 5 15.7+1.0=16.7(+0.1/-0.5)

Top Cover BHEEZS

O-Ring Ofil3%

Compression Ring 382218

Bearing 7

Crown Race N2

HEADSE T INTEGRATED

Item No. Z!5% : IGA-1486A

Type : Integrated Headsets

Upper :

1-1/8"" Cartridge bearing (B-02)

Bottom :

1-1/8"" Cartridge bearing (B-02)

32084-02
32030-03
32085-02
32038-08

32085-04

Item No. 275 : IGA-1886A

Head Tube Size SEE R~ IS 41.2/28.8-1S 41.2/30

15.7+1.0=16.7(+0.

1/-0.5)

6061-T6
Rubber
6061-T6
Suj2

Steel

Type : Integrated Headsets

Upper :

1-1/8"" Cartridge bearing (B-02)

Bottom :

1-1/8"" Cartridge bearing (B-02)

IS 41.2/28.8-IS 41

32062-03
32030-03
32086-03
32038-08

320561-05

.2/30

6061-T6
Rubber
6061-T6
Suj2

Steel

15

] 041
1 ] 5O

230.15

o @ =

=
e

mmHeight (A)=15

e8s,

mmHeight (C)=25 mm

Customized Alloy Top Cover :

Head Tube Size BEE R ~F IS 42/28.6-IS 42/30 N ——
Stack Height 5 15.7+1.0=16.7(+0.1/-0.5) 9,
77‘ 33.4 ‘

INTEGRATED “Ek“SE-‘

Item No. Z!57% : IGA-1186A

@

Head Tube Size SEE R~ IS 42/28.6-1S 42/30

Type : Integrated Headsets
Upper :

1-1/8"" Cartridge bearing (B-04)
Bottom :

1-1/8"" Cartridge bearing (B-04)

844.5

Stack Height 85 15.7+1=16.7(+1.0/-0.5) ©

* ‘ ©33.4 ‘
S
t

Top Cover BHEEZ 32086-02 6061-T6 1

O-Ring ORU18 32030-03 (R EES 1

Compression Ring 18 & I& 32086-03 6061-T6 1

Bearing 7 32086-04 Ly i 2

Crown Race T2 32051-06 Steel 1

Item No. ZY57% : IGA-1986A

Type : Integrated Headsets

Upper :

1-1/8"" Cartridge bearing (B-04)

Bottom :

1-1/8"" Cartridge bearing (B-04) *I B

26
1<)
e

ES
©

= 0
0305 450

Top Cover FhEEZ 32220-02 6061-T6 1 Ic ‘ ] J4®
O-Ring O#IR 32030-03 Rubber 1 L ous "9
Seal [ 32305-02 Rubber + Steel 1 5
Compression Ring 8218 32038-18S 6061-T6 1 o0
Bearing & 32086-04  Sup2 > T ©
Crown Race T2& 32051-06 Steel 1

o @ B T

mmHeight (A)=15 mmHeight (C)=25 mm

SSsSeao BAAEBO

A2

20



HEADSE T INTEGRATED

Item No. 7% : DOZER-1146A

Type : Integrated Headsets
Upper :

1-1/8"" Cartridge bearing (B-04)
Bottom :

1-1/4"" Cartridge bearing (B-05)

Head Tube Size SEE R~ IS 42/28.6-1S 47/33

Stack Height 5

15.3+1=16.3(+1.0/-0.5)

1 Top Cover BHEEZ 32052-03 6061-T6
2 O-Ring Ofilix 32030-03 Rubber
3 Compression Ring 18 R 32086-03 6061-T6
4 Bearing B 32086-04 Suj2

5 Bearing 7 32109-02 Suj2

6 Crown Race T2& 32109-038 Steel

Item No. Z!5% : IGA-1050A

Type: Integrated Headsets
Upper :

Bottom :

OPTION :
IGA-1150A - 26.4mm crown race

IS 38.2/25.4-1S 38.2/27

Head Tube Size SEE R~f
Stack Height 15

8.7+1.0=9.7(+1.0/-0.5)

1"" Semi-cartridge bearing (S-04)

1"" Semi-cartridge bearing (S-04)

KORE

L

i
|

1 Top Cover FhEEZE 32066-02 6061-T6 1
2 O-Ring OfIR 32066-03 Rubber 1
3 Compression Ring 8 &Iz 32066-04 6061-T6 1
4 Bearing 7 32066-13 Suj2 2
5 Crown Race T2 32066-11 Steel 1
Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
: o= = E L =g
)1 eSS eed = B & &&&f‘{ﬂa

e8s,

KORE

Head Tube Size S8& R ~F

Stack Height 85

1 Top Cover FhEEZ

2  O-Ring Of!E

3 Compression Ring 18 25
4 Bearing ##7

5 Bearing B

6 Crown Race 28

Head Tube Size SE& R~J

Stack Height #i5

1 Top Cover BhEEZS

2  O-Ring Of!E

3 Compression Ring 18 25
4 Bearing 17

5 Bearing B

6 Crown Race 28

Customized Alloy Top Cover :

INTEGRATED “Ek“SE-‘

Item No. 55 : DOZER-1066A

Type : Integrated Headsets
Upper :

1-1/8"" Cartridge bearing (B-04)
Bottom :

1-1/2"" Cartridge bearing (B-06)

IS 42/28.6-1S 52/39.8

15.7+1=16.7(+1.0/-0.5)

32052-03 6061-T6 1
32030-03 Rubber 1
32086-03 6061-T6 1
32158-03 Suj2 1
32158-02 Suj2 1 7 s
32321-02 Steel 1

Item No. !5 : DOZER-1566A

Type : Integrated Headsets
Upper :

1-1/8"" Cartridge bearing (B-04)
Bottom :

1-1/2"" Cartridge bearing (B-06)

IS 42/28.8-IS 52.2/38

o

15.7+1=16.7(+1.0/-0.5)

32108-04 6061-T6 1
32030-03 Rubber 1
32090-08 6061-T6 1
32086-04 Sui2 1
32108-03 Sue 1
32108-02 Steel 1

Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
r_'- - — . = = i t‘, fr-‘
&SSO = : . S

&

L ¥ Y. Yoy

A2



HEADSE T INTEGRATED

Item No. 7% : DOZER-1568A

Type : Integrated Headsets

Upper :

1-1/8"" Semi-cartridge bearing (F-04)
Bottom :

1-1/2"" Semi-cartridge bearing (F-08)

Head Tube Size SEE R~ IS 42/28.6-IS 52.2/39.8

Stack Height 5

15.7+1=16.7(+1.0/-0.5)

1 Top Cover FhEEE 32108-04 6061-T6 1
2 O-Ring O#IR 32030-03 Rubber 1
3 Compression Ring 18 R 32086-03 6061-T6 1
4 Bearing B 32086-04 Suj2 1
5 Bearing &7 32108-03 Suj2 1
6 Crown Race T2& 32309-038 Steel 1

Item No. 7% : DOZER-1571A

Type : Integrated Headsets

Upper :

1-1/8" Semi-cartridge bearing (F-04) Bottom
Bottom :

1-1/2" Semi-cartridge bearing (F-08)

Head Tube Size SBE R~ IS 42/28.6-1S 52.2/39.8
Stack Height 85 15.7+1=16.7(+1.0/-0.5)

1 Top Cover BhEEZS 32108-04 6061-T6 1
2 O-Ring OV 32030-03 Rubber 1
3 Compression Ring 18 2R 32090-08 6061-T6 1
4 Bearing E& 32086-04 i 7 B 1
5  Bearing & 32158-02 T Sl 1
6 Crown Race & 32309-02 Steel 1

Customized Alloy Top Cover :

' 33.4

i 46

INTEGRATED “Ek“SE-‘

Height (B)=8 mmHeight (A)=15

23

()

mmHeight (C)=25 mm

888

KORE KORE
=}
Item No. Z!57 : DOZER-1370AF-1
Type : Integrated Headsets
Upper :
1-1/8"" Semi-cartridge bearing (F-04)
Bottom :
1-1/2"" Semi-cartridge bearing (F-07)
Head Tube Size Si& R~ IS 42/28.6-IS 52/30
Stack Height 85 15.7+1=16.7(+1.0/-0.5)
1 Top Cover FHEEZ 32220-02 6061-T6 1
2 O-Ring O&{IR 320380-03 Rubber 1
251.8 a5
3 Compression Ring 18 & I& 32038-18S 6061-T6 1 E e
4 Bearing 17 32158-03 Suj2 1
5 Bearing B 31066-02 Suj2 1 i ©
6 Crown Race & 31370-02 6061-t6 1
=}
Item No. Z!5% : DOZER-1567A
Type : Integrated Headsets
Upper :
1-1/8"" Semi-cartridge bearing (F-04)
Bottom :
1-1/2"" Semi-cartridge bearing (F-08)
Head Tube Size SiE R~ IS 42/28.6-IS 52.2/38
e ' 2334
Stack Height 35 15.7+41=16.7(+1.0/-0.5) J'EH@
1 Top Cover FHEEES 32108-04 6061-T6 1
2 O-Ring O#IR 32080-03 Rubber 1
8 Compression Ring 18 R 32086-03 6061-T6 1
4 Bearing #f17 32158-03 Suj2 1 9
5 Bearing B 32158-02 Suj2 1
6 Crown Race & 32108-02 Steel 1
Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
E L =g e
_X8¥ S 88806680

L ¥ Y. Yoy



HEADSET ecera

Item No. £Y7j% : DOZER-1340A

Head Tube Size SB& R~

Stack Height {5

1 Compression Ring 18 28

2 Bearing _#fi7&

3 Bearing &7

NEW

Type : External Headsets

Upper :

1-1/2" Cartridge bearing (B-19)
Bottom :

1-1/8" Cartridge bearing (B-12S)

1S52/28.6-1S41.2/30

31340-02 6061-T6 1
31929-06 Suj2 1
32060-02 Suj2 1

Head Tube Size S8& R~

1 Compression Ring #2258
2 Crown Race BRZE

8 Sead BhKE

4 Ball Retainer Bk&4H

5  Ball Orbit Zk#),

6  Cup tF

Customized Alloy Top Cover :

Stack Height 185

| 34

Type : External Headsets
Upper :

1-1/8"" Alloy cup/Ball Retainer
Bottom :

1-1/8"" Alloy cup/Ball Retainer

238.9
|

IS 34/28.8-IS 34/30

13+12.5=25.5 +1.0/-0.5

32004-04 JERE+18

32004-05 Steel 2 o
32004-03 ABS 2 aeodnose——0
32008-05 il 2 ——
32002-03 Steel 2 =0
32002-02 6060-T6 2

KORE

Height (B)=8

e = .
o8 r & O

25

mmHeight (A)=15

ssas o

mmHeight (C)=25 mm

KORE

Item No. 7% : STS-1889

Type : External Headsets a et
Upper : :ﬁ:{é%
1-1/8"" Steel cup/Ball Retainer
Bottom : =0
1-1/8"" Steel cup/Ball Retainer —ous
18 —0O
I o
————
CTRFTD )
Stack Height 5 12.4+10.1=22.5(+1.0/-0.5)
—®
1 Compression Ring I E238 32004-04 Nylon 1 L
2 O-ring OZYZR 32030-03 Rubber 1
3 Crown Race ¥k 32302-02 Steel 1 LE 5
4 Seal F7KE 32083-07 PP 1 EE—
5 Ball Retainer BR&EA 32083-08 Steel 2 CeoodoaTo
—0O
6 Cup i 32083-10 1008 2
7 Crown Race %% 32004-05 Steel 1 %—@
2195

Item No. !5 : STS-1086A

Type : External Headsets

Upper :

1-1/8"" Alloy cup/Cartridge braing (B-02)
Bottom :

1-1/8"" Alloy cup/Cartridge bearing (B-02)

Head Tube Size SBEE R~ IS 34.05/28.8-1S 34.05/30
Stack Height A= 15.5+12.7=28.2(+1.0/-0.5)

205

1 Dust Cap FhEEZE 32055-02 6061-T6 1
2 O-ring OZYZR 32080-03 Rubber 1
3 Compression Ring 18 R 32055-08 6061-T6 1
4 Bearing ¥ 32055-04 Suj2 2
9 Cup %8 32055-03 6061-T6 2
6 Crown Race ZkZE 32055-05 6061-T6 1

Customized Alloy Top Cover :

exerna. TWEADSEN

Height (B)=8 mmHeight (A)=15

eceoeno 8888680

A2

mmHeight (C)=25 mm

88280

26



27

HEADSET ecera

Head Tube Size SEE& R~f

Stack Height 5

Dust Cap FhEEZ=

Compression Ring 18 21
~EBA

Crown Race ¥RZE

Item No. 5% : STS-1288A

Type : External Headsets
Upper :

1-1/8"" Z-typer bearing
Bottom :

1-1/8"" Z-type bearing

IS 34/28.6-1S 34/30

13+10=23(+1.0/-0.5)

31288-02 6061-T6
32016-02 6061-T6
31288-04 Steel
31288-05 Steel

Customized Alloy Top Cover :
Height (B)=8

=
o —

Head Tube Size SB& R~

Stack Height 185

~N o ok ON -

o @ B T

Compression Ring #2238
Upper Cone HRZE

Seal BHEERE

Ball Retainer BRE4H

Cup e

Seal Bi7KE

Crown Race F¥RZE

Type : External Headsets
Upper :

1-1/8"" Steel cup/Ball Retainer

Bottom :

1-1/8"" Steel cup/Ball Retainer

IS 34/28.6-IS 34/30

13.5+10.3=23.8(+1.0/-0.5)

32065-03 6061-T6
32074-02 Steel
32074-03 [pptilEdiEs
32008-05 s
32004-02 Steel
32004-03 ABS
32004-05 Steel

— . IS . =

@48.80

‘ @46.80 ‘

CER0GoaEn—0
— ®
| 238.9

KORE

mmHeight (A)=15

mmHeight (C)=25 mm

KORE

Customized Alloy Top Cover :

Head Tube Size S8& R ~F

Stack Height 85

Compression Ring 18 25
Upper Cone #RZE

Seal Fr7KE

Ball Retainer ZRE 42

Cup t£Hi

Crown Race T¥ZE

Head Tube Size SE& R~J

Stack Height #i5

1

Height (B)=8

=
o —

e e e 8
A

Compression Ring 18 25
O-ring OFYEE

Dust Cap FhEEZ

Seal BHEEF

Upper Cup BiZH

Crown Race Zk3&

exerna. TWEADSEN

Item No. 7% : STS-1089

Type : External Headsets
Upper :

1-1/8"" Steel cup/Ball Retainer

Bottom :

1-1/8"" Steel cup/Ball Retainer

IS 34/28.6-1S 34/30

12.5+10.3=22.8(+1.0/-0.5)

32065-03 6061-T6
32008-04 Steel
32004-03 ABS
32008-05 i
32004-02 Steel
32004-05 Steel

Item No. B35 : STS-1388A

Type : External Headsets
Upper :

1-1/8"" Z-typer bearing
Bottom :

1-1/8"" Z-type bearing

IS 34/28.6-1S 34/30

17.5+10.5=28.0(+1.0/-0.5)

32004-04 Nylon
32030-03 Rubber
32075-02 6061-T6
32075-03 Rubber
32016-04 Steel
32016-05 Steel

234§

2437

46,6

b

175

@34:5"

——

:%1%@
941.3

mmHeight (A)=15

eam o

A2

mmHeight (C)=25 mm

28



29

HEADSET ecera

Head Tube Size A& R~f

Stack Height 5

Item No. Z5% : STS-1789A

Type : External Headsets

Upper :

1-1/8"" Alloy cup/Semi-cartridge braing (F-05)

Bottom :

1-1/8"" Alloy cup/Semi-cartridge bearing (F-08)

OPTION :

STS-1790A - 30mm crown race

IS 44/28.6-1S 44/39.8

17.7+12.1=29.8(+1.0/-0.5)

1 O-Ring OfilIx 32030-03
2 Dust Cap BHEEE 32080-02
3 Compression Ring B &IR 32367-03
4 Bearing B 32058-08
5 Cup £ 32026-04B
6 Cup T 31789-03
7 Bearing 7 32158-02
8  Crown Race %RZE 32309-02

Customized Alloy Top Cover :

Stack Height 85

Rubber
6061-T6
6061-T6
Suj2
6061-T6
6061-T6
Suj2
Steel

Type : External Headsets

Upper :

1-1/8"" Steel cup/Ball Retainer

Bottom :

1-1/8"" Steel cup/Ball Retainer

Head Tube Size S8E R~ IS 34/28.8-1S 34/30

23.7+11=34.7(+1.0/-0.5)

1 O-ring OBYER 32030-03
2 Compression Ring 18 2% 32123-02
3 Crown Race BRZE 32055-08
4 Ball Retainer BRE 4R 32004-05
5  Seal BiEEHE 32008-05
6 Cup IFi 32004-02
7 Seal Br7KE 32004-03

Rubber
6061-T6
6061-T6
Steel
Steel
Steel
ABS

BN _, NN _, RN . R

SO N NN

28

Height (B)=8
eece e

mmHeight (A)=15

= @

=~

T

&

mmHeight (C)=25 mm

888

. L~ =g
B (D

KORE

Head Tube Size S8& R ~F

Stack Height 85

Item No. 55 : STS-1059A

Type : External Headsets

Upper :

1"" Steel cup/Ball Retainer

Bottom :

1"" Steel cup/Ball Retainer

EC 30.2/25.4-EC 30.2/26.4

11.5+10.5=22(+1.0/-0.5)

exerna. TWEADSEN

©@30.29"°

1 Compression Ring 18 & I& 32057-02 Nylon
2 Crown Race ZREE 32057-03 Steel isges0 050, MG
3 Seal BH7KE 32057-04 Nylon —_—t G
4 Ball Retainer ZRE#H 32057-05 Steel
5 CwhE 32057-06 Steel T2
236
6 Crown Race ¥k3&E 32057-09 Steel
Ia
Item No. Z!57 : STS-1056A
Type : External Headsets 2 0395
Upper : T L0
1"" Alloy cup/Cartridge braing (B-01)
Bottom : ®
1"" Alloy cup/Cartridge bearing (B-01) 2 e
::g:?—@
g 5/—@
Head Tube Size EHER IS 30.25/25.6-IS 30.25/26.4
Stack Height 85 14.5+11.8=26.3(+1.0/-0.5) ( b o
©30.25°3"
1 DustCeap BhEEZ 32342-02 6061-T6
2 O-ing ORUIR 32066-03 Rubber ( —o
3 Compression Ring 18 2ix 32066-04 6061-T6
—— | I
4 Bearing #f7 32066-05 b | o
5  Cup®i 32342-03 6061-T6 ?%%—@
237.6
6 Crown Race BRZE 32066-07 Steel
Customized Alloy Top Cover :
Height (B)=8 mmHeight (A)=15 mmHeight (C)=25 mm
- . r . - T - =g
S 886880 B

888

30



HEADSET ecera

Upper :

Head Tube Size S8& R~

Stack Height 5

Top CoverfhEEZ

O-Ring OfilE2
Compression Ring 18 21
Bearing - ##7%

Cup £#E

Cup T8

Bearing T ##7

Crown Race &

@0 N o Ok WwN -

Head Tube Size A& R~f

Stack Height {5

Top CoverfhEEZ

O-Ring ORI
Compression Ring 18 £i&
Bearing ¥l

Cup %8

Cup i

Bearing T~ &7

Crown Race FZ&

Crown Race N2

© 0 N o O~ 0N =

Item No. Y73 : DOZER-1926A

Type : External Headsets

1" Alloy Cup /Cartridge bearing(B-01)
Bottom :
1-1/8" Alloy Cup /Cartridge bearing(B-02)

EC30.25/25.6-EC34.05/30

14.5+12.7=27.2 (+1.0/-0.5)

32342-02 6061-T6
32066-03 Rubber
32066-04 6061-T6
32066-05 i Sl
32342-03 6061-T6
32055-03 6061-T6
32055-04 7 £
32055-05 6061-T6

Item No. !5 : DOZER-1927AH

Type : External Headsets
Upper :

1-1/8" Alloy Cup /Cartridge bearing(B-02)

Bottom :

EC 34.05/25.6 - EC44/30 (EC44/39.8)

15.5+12.1=27.6 (+1.0/-0.5)

32055-02 6061-T6
32030-03 Rubber
32055-08 6061-T6
32055-04 s A Al
32055-03 6061-T6
31789-03 6061-T6
32158-02 7 A
32192-04 6061-T6
32309-02 6061-T6

1-1/2" Alloy Cup / Semi-Cartridge bearing(F-08)

NEW

—4.8
o
2

D

)

—1

— 30259, —

BN _, N _, RN . RN

NEW

. NN . QNN . QRN . QRN

KORE

KORE

Head Tube Size SEE& R~J

Stack Height 85

AIRA\ A IR RRE7K
BEER)

IR\ A EERE
BREA

Cup e

Cup T

Crown Race N

1
2
S
4
5
6
7

Item No. #!5% : K-102

Head Tube Size S8& R ~F

Stack Height #i5

Compression Ring 18 21
NIRAN\ B IR
BEER

NIRAY ETRIE

Dust Cap FhEEZ
AR

Crown Race THZE

~N o O~ O N =

THREADED “Ek“SE-‘

Typer : Threaded Headsets
Upper :

1"" Steel cup/Ball retainer
Bottom :

1"" Steel cup/Ball retainer
OPTION :

K-801 - 1-1/8""

IS 30/22.2-1S 30/27

23+10.5=33.5(+1.0/-0.5)

39101LY-22 Steel 1
39101LY-08 Steel 1
39101LY-04 Steel 1
39101LY-05 Steel 2
39101LY-06 Steel 1
39101LY-07 Steel 1
39101LY-09 Steel 1

Typer : Threaded Headsets
Upper :

1"" Z-typer bearing

Bottom :

1"" Z-type bearing
OPTION :

K-802 - 1-1/8""

IS 30/22.2-IS 30/27

26+10.2=36.2(+1.0/-0.5)

32009-10 i 1
32009-02 Steel 1
32010-03 Steel 1
32010-04 Steel 1
32010-05 ABS 1
32010-06 Steel 2
32010-02 Steel 1

@30:91°

@38




Head Tube Size S8& R~

Stack Height {5

AR\ B IR
BEER

NIRA EFRE

Dust Cap FhEEZ=
= ERBA

Crown Race THRE

~N o O s WwiNn -

Head Tube Size S8& R~

Stack Height {5

AIRA \ B IR
BT

Dust Cap FEeZ=
NIRAY FTRIE

Ball Bearing BRE4
Cup Bt

Cup 8

Plastic Seal Bh7KE
Crown Race FEKZE

© 0o ~NO O~ wnN —

(@]

Compression Ring ¥ E258

Compression Ring 18 21

an.

HEADSET reroen

Item No. !5 : K-103

Typer : Threaded Headsets
Upper :

1"" Z-typer bearing

Bottom :

1"" Z-type bearing
OPTION :

K-803 - 1-1/8""

IS 41.4/22.2-1S 41.4/26.4

19.5+3.2=22.7(+1.0/-0.5)

32009-10 B
32009-02 Steel
32010-03 Steel
32011-05 Steel
32011-04 ABS

32011-06 1008
32011-02 Steel

Item No. E!5% : K-104

Typer : Threaded Headsets

Upper :

1"" Steel cup/Ball retainer
Bottom :

1"" Steel cup/Ball retainer

IS 30/22.2-IS 30/26.4

23+10.5=33.5(+1.0/-0.5)

32009-10 Rubber
32009-02 Steel
32009-07 Steel
32009-09 ABS
32009-04 Steel
32067-05 Steel
32009-03 Steel
32009-05 Steel
32009-08 ABS
32009-12 Steel

1\ QN EEEN . RN,

Y N . S N _ gy

231

834.2

@15.5

217.1

©21.6

—®

| 2185

Head Tube Size S8& R ~F

Stack Height 8=

PIRA)\ A IR
BrEER
N\ERIRA EERE
Plastic Seal BA7K &
Ball Bearing ZRE4H
ZRH0

Crown Race FERE

1
2
3
4
5
6
7
8

Item No. BY%% : K-827LY

Head Tube Size S8& R ~F

Stack Height 5

WIEA N\ IR
B

=R &

AIRA FEREE
TREAH

_EIRHE

NEREE

Crown Race FERZE

o ~N o O~ 0N =

Compression Ring 18 2

THREADED “Ek“SE-‘

Typer : Threaded Headsets

Upper :

1-1/8"" Steel cup/Ball retainer

Bottom :

1-1/8"" Steel cup/Ball retainer

IS 34/25.4-1S 34/30

25.5+10=35.5 (+1.0/-0.5)

32083-02 Rubber
32083-03 HEE
32083-04 1008
32083-06 1008
32083-07 MR E
32083-08 Steel
32083-10 1008
32004-05 Steel

Typer : Threaded Headsets
Upper :

1"" Steel cup/Ball retainer
Bottom :

1"" Steel cup/Ball retainer

IS 22.2/30-IS 30/27

28.1+10.3=38.4(+1.0/-0.5)

30827-02LY Steel
30827-13 Steel
30827-03 ABS

30827-05LY Steel
30827-06LY 1018
30827-07LY Steel
30827-08LY Steel
30827-10LY Steel

Item No. Y% : K-826

= o> ISl — By

N, ey o e pEy




Head Tube Size BB & R~J

Stack Height 5

Compression Ring 78215
IRA \ A IR
BEZER)

I\ RIRA EEREE
Plastic Seal Bh7KE
EERE

Btz R

NERRR

TERE

1
2
3
4
5
6
7
8
g

Item No. 5% : K-807-AL

HEADSET reroen

Item No. Y7 : K-817

Typer : Threaded Headsets
Upper :

1-1/8"" Steel cup/Ball retainer
Bottom :

1-1/8"" Steel cup/Ball retainer

ZS 44/28.6-ZS 44/30

17.7+4.0=21.7 (+1.07-0.5)

32083-02 Rubber
32083-03 Zn
32083-04 Steel
32083-06 Steel
32083-07 Rubber
32083-08 Steel
32083-10 Steel
32099-02 Steel
32004-05 Steel

Head Tube Size SEE R~J

Stack Height 85

O Ring O&lEE

Dust Cap FhEEZ
ER

IR\ B IRE
BEER

JAVL: Sy llnb 7
Dust Cap FrEEZ
~E A

Plastic Seal B7K &l
Crown Race NERZE

©O© o~~~ O~ wnN —

(@]

Typer : Threaded Headsets
Upper :

1-1/8"" Z-typer bearing
Bottom :

1-1/8"" Z-type bearing
OPTION :

K-807-NY - Nylon Top cover

IS 44/25.6-1S 44/30

30.5+3.0=33.5+1.0/-0.5

32066-03 Rubber
32103-02 6061-T6
32013-08 Rubber
32013-07 Zn
32006-06 Steel
32013-05 Steel
32013-04 Rubber
32013-03 Steel
32100-08 ABS
32023-02 Steel

S S| N N,

—o N o N N BN N

= @34.8

?38.9

KORE

KORE

Item No. Y% : K-829

Head Tube Size SEE& R~J

Stack Height =

Plastic Seal Bi7KE
Crown Race T4

1 Dust Cap FhEEZ
2 | AEER

3 | NARIRAEERE
4 | HRE

5 | &

6

7

THREADED “Ek“SE-‘

Typer : Threaded Headsets
Upper :

1-1/8"" Steel cup/Ball retainer
Bottom :

1-1/8"" Steel cup/Ball retainer

IS 44/25.4-1S 44/30

20.4+4=24.4(+1.0/-0.5)

32829-02 6061-T6
32006-06 Steel
32083-06 1008
32008-05 Steel
32005-02 Steel
32005-03 Nylon
32004-05 Steel

Item No. /5% : K-105

Head Tube Size S8& R~

Stack Height 5

Compression Ring ¥ 215
PIRA\ A IR
BEEER]

Plastic Seal 7K
PURA EBREE

Plastic Seal Br7KE|

Ball Bearing %k & 48

Cup i

Crown Race TFEkZE

© 0 N O O~ 0N =

Typer : Threaded Headsets
Upper :

1"" Steel cup/Ball retainer
Bottom :

1"" Steel cup/Ball retainer

IS 30/22.2-IS 30/26.4

27.5+10.5=38(+1.0/-0.5)

32009-10 Rubber
32009-02 Steel
32010-01 Steel
32088-03 [RRliTEdiEs
32088-02 Steel
32009-08 JERE+HTE
32057-05 1018
32057-07 Steel
32009-12 Steel

SN NN s

LN N v v s

@48.78

= -

©38.9

- 2405




HEADSET scvinecraten 2 2K packace TEADSEN

J TOPCAP

AL-TA3

SIZE: 1",1-1/8" SIZE: 1-1/8" SIZE: 1",1-1/8"
* Anodized aluminum top cap * Anodized aluminum top cap ¢ Alloy die casting top cap
® M6 standard steel bolt. ® M6 standard steel bolt. ® M6 standard steel bolt.
® M6 x 30mmL x 1.0mm pitch ® M6 x 30mmL x 1.0mm pitch.
e Star fangled nut. e Star fangled nut.

=

TF3

SIZE: 1-1/8" SIZE: 1",1-1/8" SIZE: 1",1-1/8" ¢ Light weight design
* Anodized aluminum top cap * Fiber reinforced top cap. * Anodized aluminum * 1-1/8" CNC top cap
* Hollow steel bolt. ® M6 standard steel bolt. flat top cap
* M10 x 40mmL x 1.25mm pitch for ® Mé x 30mmL x 1.0mm pitch ® M6 standard steel bolt.

freestyle rotors. e Star fangled nut.
e Star fangled nut. * Logo on top.

] SPACER

o T @

COLOR sPACER CJ crown Race ADAPTOR [l CARBON sPACER CARBON T10P cAP

SIZE COLOR HEIGHT ltem no. CJ-2 for @39.8 crown race SIZE COLOR HEIGHT e Carbon Top Cap
1" BK/SIL 2/5/10mm ltem no. CJ-4 for @33.0 crown race 1" BK 5/8/10/15/20mm . 1-1/8"

1-1/8"  BK/SIL 2/3/5/10mm Item no. CJ-8 for @30.0 crown race 1-1/8"  BK 5/8/10/15/20mm

1-174"  BK/SIL 2/5/10mm

Anodized color Available

o

CONICAL cARBONSPACER
SIZE COLOR HEIGHT
1-1/8" BK/SIL  10/15/20/25/30mm

gl ®
a

e Compress ring for Carbon headtube

I STAINLESS STEEL SHIM

.d';,_-"{-“-_' e

. X L, L - ¥
e e

* should be used between the top cap and compression ring to make sure (1-1/8")
the top cap does not contact the top of the head tube.
e Available for 1" or 1-1/8" steerer tubes 0.3mm height each.




. HEADSET o 2 2K vevo TERADSEN l






